C ONVEYORS

A DURAVANT COMPANY

BestReach Rigid Belt
Drive-Out Conveyor
System with Discharge
Pullout

Operator’s Manual
C@US

lllllllll
uuuuuuuuu

FMH Conveyors LLC p. 800.327.9209 Part Number 99039
107 Flint Street t. 844.FMH.SERVICE Effective June 2016
Jonesboro, AR 72401 f.870.935.3661 www.fmhconveyor

s.com



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Dear Operator,

We at FMH Conveyors would like to thank you for selecting our BestReach® power
conveyor system as the solution to your conveying needs.

Your BestReach® system is supported by a group of factory trained customer
service representatives. They can be reached via our toll free number 1-800-327-
9209. Whether your needs require assistance from the factory or in the field,
please do not hesitate to call. Our team is eager to help.

Thank you once again for purchasing our BestReach conveyor system. We look forward
to fulfilling your future requirements.

Sincerely,
FMH Conveyors

C US
LISTED

Factory Automation
Equipment
3BF3

Underwriter’s Laboratories Certification Statement

FMH Conveyors has been thoroughly tested by Underwriter’s Laboratories, and have
been found to meet their strict standards for Factory Automation Equipment. Our
conveyors are certified to UL508 Standards when shipped from our plant. Our UL file
number is E230497. All standards can be found on-line at www.ul.com.

ANY MODIFICATION FROM ORIGIONAL FACTORY CONDITION OR REPAIRS
NOT PERFORMED BY FMH CONVEYORS TECHNICIANS OR
CERTIFIED CONTRACTORS MAY VOID UL CERTIFICATION.

For specific assistance regarding any UL issues, please contact your FMH Conveyors
sales representative at 1-800-327-9209.



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Table of Contents

Thank You
Warranty Statement
Safety Information
Specifications
Installation
Assembly Floor Track
Operating Instructions
Maintenance Schedule
Mechanical Components
BestReach Belt 460V, Standard Speed, 62'-52' & 38’ - 28’
BestReach Belt 460V, Optional Speed, 62'-52' & 38 - 28’
BestReach Belt 230V, Standard Speed, 62'-52' & 38’ - 28’
BestReach Belt 230V, Optional Speed, 62'-52' & 38 - 28’
Rigid Belt, Front and Back Half, Frame Assembly
Mainframe, Rigid Belt, Short
Rigid Belt Extension
Rigid Belt, Extension, Push Bar Sub-Assy
Rigid Belt, Extension, Skate Wheel Sub-Assy
Rigid Belt, Extension, Brake Cable Assy
Rigid Belt, Extension Transition Assy
Power Steering Assembly, Rigid Belt
Assembly Front and Rear Suspension
Spacer Kits for Rear and Front Legs
Optional Fan and Light
Decal Group for Short and Long Rigid Belt
Rigid Belt, 12 X 12 Encl. Assy
Electrical Components
Rigid Belt, 48 and 24 Main Electrical Assembly
Main Electrical Hook-Up
Main Electrical Panel Layout and Enclosure Panel all speed/voltage options
Rigid Belt, Extension, Electrical
Schematics and Diagrams
Main Electrical Panel
Rigid Belt Schematic all options
Detail, Floor Track Junction Box, Front
Detail Components Electrical Floor Track
Disconnect Stand
12 x 12 Enclosure Main Frame and Extension
Wiring Diagram Limit Switch
Wiring Diagram and Part List, Operators Panel, all options
AC Tech Frequency Drives
Frequency Drive for Optional Belt Speed
Trouble Shooting

20-21
22-23
24-25
26-27
28-29
30
31
32
33
34
35
36
37-38
39-42
43-44
45-46
47-48

50-51
52
53-60
61

63
64-67
68
69
70
71-72
73
74-77
78
79
80-81



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

WARRANTY STATEMENT

Your FMH conveyor is protected by our premier warranty. FMH Conveyors will replace, free of

charge, parts that are damaged during the course of normal operation due to material or workmanship defects.
This warranty extends for a period of two (2) years on all mechanical components and one (1) year on all
electrical components, as measured from the date you take possession of your conveyor.

This warranty does not cover damage due to accident, misuse, abuse, and negligence. This warranty does not
cover damage due to improper operation or maintenance, connection to improper voltage supply, or at-
tempted repair/modification by anyone other than an authorized FMH Conveyors. service personnel.

For specific warranty information or assistance, please contact your FMH Conveyors sales
representative at 1-800-327-9209.



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

SAFETY INFORMATION

Avoid wearing excessively loose clothing or hanging jewelry when working
with moving machinery.

Keep long hair pulled up to prevent it from becoming caught in moving parts.
Remove any obstructions from the path of the conveyor.

Make sure others move away from the conveyor before moving the unit or
starting the conveyor bed.

Best Diversified Products, Inc. conveyors and their electrical systems must
only be serviced by properly trained and qualified technicians.

Never service the conveyor with power applied. Always disconnect power
before servicing equipment.

Never operate conveyor with any electrical enclosure open.

Never operate conveyor with any guards removed.



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

SPECIFICATIONS

Overall Length w/10’ Pullout Extension

(Shortest Standard Unit)

Overall Length w/10’ Pullout Extension

(Longest Standard Unit)

Minimum Bed Height

Overall Width

Belt Width

In and Out Travel Speed
Steering

Solid Rubber Tires

Conveyor Bed Speed Standard
Conveyor Bed Speed Optional

230VAC 3 phase Std. Speed
Full Load Current
Roller Full Load Amps

460VAC 3 phase Std. Speed
Full Load Current
1 /2 H.P. Motor Full Load Amps

230VAC 3 phase Optional Speed
Full Load Current
Roller Full Load Amps

460VAC 3 phase Optional Speed
Full Load Current
Roller Full Load Amps

28’ to0 38’

52°t0 62

32 Inches

35 Inches (Approx)

24 Inches

60 ft/min

8 to 10 degrees left & right
17 Inch Diameter

60 ft/min

60-135 ft/min

11.5 Amp
4.4 Amp

6 Amp
2.5 Amp

15.5 Amp
8.6 Amp

8 Amp
4.3 Amp



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Installation

Unloading Units

1) Upon arrival all conveyors will be secured with wood blocks mounted to the trailer floor. All
wood blocks must be removed prior to moving the conveyors.

2) Warning: Conveyors must not be picked up utilizing forks on the rear of the unit. Failure to
adhere to this warning may cause damage to the main electrical panel on the back of the unit, or
the electrical connections coming into this panel. This damage will not be covered under war-
ranty.

3) Tounload, the unit may be either manually pushed from the front of the conveyor, or by utilizing
a lifting strap placed around the rear frame of the conveyor and attached to a forklift. Ifusing
the strap method, make sure that the strap does not come in contact with any electrical wiring

under the conveyor.

4) The steering actuator on the front axle of the conveyor has been disconnected for ease of
movement. When using either unloading method, someone must manually steer the front of the
unit to prevent damage to the front control panel.

Installation

Installation should only be performed by Best Diversified Installers or qualified personnel, and must be
completed in accordance with all applicable codes and regulations.

1)

2)
3)
4)
5)

6)
7)

8)

9)

Locate and mark the center of the spur. Chalk a line from the dock leveler back approximately 50
feet. Measure 2 inches off each side of the centerline, this will give you your inside dimension on
track placement location, 5 inches off the center will give you your outside line placement. NOTE:
It might be helpful to cut 2, 4-inch blocks. Center these blocks on your chalk line at the front and
back of each piece of track, so that you have 2 inches on either side of the line. Then assemble the
track as instructed below.

Mark location for the front of floor track as shown on supplied application specific drawing (if you
do not have this drawing contact factory.)

Locate and position the individual pieces of floor track as shown on drawing A.

Assemble the rear sections of floor track as shown in drawing B.

Position and anchor floor track starting with the front and aligning the inside edge with your 2-inch
measure out or utilize your cut blocks for this placement.

Pull 2 lengths of SO cable provided (16/8 and 14/4) thru flexible wire carrier.

Attach the included connection brackets to each end of the flexible wire carrier. These parts and
hardware are shown in Drawing C on page 13.

Feed both lengths of SO cable under rear wire cover (C channel illustrated in Drawing B, #7)
exposing approximately 10” at the rear of the floor track. Attach the flexible carrier to the wire
cover (C channel).

Install 2 cord grips (not included) in 7/8 holes of 8x6x5 junction box that is provided.

10) Feed Approximately 10 of the SO cables thru the cord grips and install junction box on floor

toward the rear of the floor track. Box should be held off the ground utilizing Uni-strut or some
other suitable material. This material is not included and will need to be provided by the installer.

11) Pull slack cable thru the opposite end of the flexible wire carrier.
12) Lay flexible wire carrier flat in the floor track.



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Installation, Cont.

13) If the conveyor is going to be installed from the dock end of the floor track the stop bar must be
removed from the conveyor. Ifthe conveyor is to be installed from the rear of the floor track the
stop bar and the UHMW guide roller must be removed from the conveyor.

14) Roll the conveyor into position on guide track and re-install stop bar and guide roller.

15) Connect Flexible wire carrier to the underside of the conveyor.

16) Route and secure 14/4 SO cable into main electrical enclosure box and terminate as shown in
Diagram on page 52, connecting to the L1, L2, L3 and ground contacts.

NOTE: Torque terminal blocks to a maximum of 7 inch/lbs.
NOTE: Terminal blocks are rated for 10-20 Gauge wire only per UL File E188984

17) Terminate wires from both SO cables in the floor junction box as shown on page 67. Supply line
voltage, as shown on the nameplate to 14/4 SO cable junction in floor track junction box. This line
voltage must be connected to a separate fused disconnect. This connection is shown as an option on
page 69, or may be provided by the installer. Conduit, straps, wire, hardware, etc. that are used to
connect the floor track box to the disconnect must be provide by the installer. All wires that are
pulled must be labeled to correspond to those in the floor track box. The remaining 16/8 SO cable
wires are interlock connections and should be connected as shown in the optional disconnect stand
drawing on page 69. Connect applicable interlock wires to 16/8 SO cable in 8x6x4 junction box.
NOTE: Torque barrier strips to a maximum of 9.6 inch/lbs.

NOTE: Barrier Strips are rated for 12-22 Gauge wire only per UL file E47811

18) Remove chain guard and install chain.

19) Installed the Herringbone transition to the end of the fixed feeder conveyor.



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Belt Installation

BELT INSTALLATION AND TRACKING:

Unroll the belt, PVC coating side up, around the head pulley and over the idler rollers. Run belt
over the snub roller, around the drive roller, and back over the other snub roller. Then run the belt around
the tail pulley and align the seam near the center of the conveyor frame. Pull the belt together to engage the
lacing and install the pin. There are two permanent marks in the center of the belt width approximately 20
feet back from the lacing and 10 feet apart. Find these marks and take an exact measurement between
them. Add.375” (3/8”) to the measurement. Example (measured 119 9/16” +3/8”=119 15/16). For
proper tension, adjust the tail pulley so the distance between the two marks is equal to the sum of the
measured dimension and 3/8”. To insure the tail pulley is square, be sure both tail pulley blocks are equal
distance from the rear of the conveyor frame. After tracking the belt, check the dimension between the
marks to make sure proper tension is still in the belt. Ifthe dimension has changed, adjust accordingly and
recheck for proper tracking.

With the belt installed, begin the tracking procedure. The drive roll should be parallel to the snub
rollers. The snub rollers should be locked into place. All idler rollers are square to the frame. Start the
belt. Watch to see which side the belt wants to run to and also how quickly it does so. Shut off the con-
veyor. Begin belt tracking by adjusting the first idler from the front. Loosen the bolts on the idler bracket
and angle the roller to correct the belt travel. The roller will steer the belt toward the uphill side of the roller
(Uphill refers to the belt travel direction). If further correction is necessary, proceed to adjust the next idler
from the front and so on toward the rear of the conveyor. If adjusting the idlers cannot solve the tracking
problem, the head and tail pulleys may have to be adjusted slightly.

Adjusting the idler rollers will solve most all of the belt tracking problems. The belt should run
straight and on the center of the slider bed. Practice and experience will speed up the belt tracking process.



BestReach Rigid Belt Conveyor

FMH Conveyors Operator’s Manual

NOILO3S .9 ‘MOvel ¥0OT4 600Z0% vl
0[N 8 YODJ| 100|4 ‘Assy [DD11}08[] 910708 <l
X 91—8/¢ ‘OHH ‘M3IYOS 2001 Zl
NOTAN 91—8/¢ INNMYD0T ovlill Ll
L8/ HIHSYM L1v1d 020z 0l
/¢ € X 91—-8/¢ YOHONY 1109 G960 6
SI1GYD IYIM IINNYHO INOYS “IM 92005/ g
SINEV0 IAIM TTINNYHO Hv3y LM SZ00S/ /
SIGV0 IYIM TINNYHO ¥0205¢ 9
NOILO3S .98 “MOvdl 40014 9910G¢ S
MOVYL ¥OO0T4 ‘1437 ¥v3yY LM Z200SL ¥
MOVYL 0014 ‘1437 INOYZ LM 0200GL ¢
MOVYL HOOTd ‘LHOIY dv3Y LM ¥200GL z
MOVYL ¥O0Td ‘LHOIY INOY4 “LM ¢2C006L

NOILdI43S3d

JIENNN Ldvd

Floor Track Assy, Rigid Belt, 48' Pullout

Drawing A

10

Ol —
z



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Floor Track Assy, Rigid Belt, 24' Pullout

Drawing A

NO. PART NUMBER | REQ'D DESCRIPTION

1 750023 1| WT. FRONT RIGHT, FLOOR TRACK
2 750024 1 | WI. REAR RIGHT, FLOOR TRACK

3 750020 1 | WT. FRONT LEFT, FLOOR TRACK

4 750022 1 | WT. REAR LEFT, FLOOR TRACK

5 350166 2 |FLOOR TRACK, 86" SECTION

7 750025 1 |WT. REAR CHANNEL, WIRE CABLES
8 750026 1 |WT. FRONT CHANNEL, WIRE CABLES
9 10565 18 | BOLT ANCHOR 3/8-16 X 3 3/47
10 12020 4 | FLAT WASHER 3/8”"

11 11140 4 |LOCKNUT 3/8-16 NYLON

12 10042 4 | SCREW, HHC, 3/8-16 X 17

13 802017 1 Electrical Assy, Floor Track, 24" Pullout
14 402010 2 |FLOOR TRACK, 34" SECTION
1 o o
O] ° o

N

11



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor
Floor Track Assembly, Rear
Drawing B

NO. PART NUMBER REQ'D DESCRIPTION

2 750024 1 | WT. REAR RIGHT, FLOOR TRACK
4 /50022 1 | WT. REAR LEFT, FLOOR TRACK

7 750025 1 |WT. REAR CHANNEL, WIRE CABLES
10 12020 4 | FLAT WASHER 3/87

11 11140 4 | LOCKNUT 3/8—=16 NYLON

12 10042 4 | SCREW, HHC, 3/8-16 X 17

13 400092 1 Assembly Electrical Floortrack

Refer to Drawings
C and D



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Electrical Assy, Floor Track, 48' Pullout
Drawing C

o |dlolo|lslulin =18
i
i
1 NN o
i (&N b
: W | W IR BN AR RO NOE 2+
; o082 a|oealT
» OI0Ig| oYY =
uuowéu‘\l‘\léc
O N o=z
W‘,u‘ O“O‘)%O%éééw
m
W«Ib olw o
i z
R |~ m
|‘JU B RIS IES SN N NS
] W)
o
i 4 o
g w = )
MmN~ = (>
= |=
S1A= N @@
*»*,\)%fﬁw
Mm@
—U—Dg\oy\)v“ —
S F
>;§h0mm
(ﬁm‘o | Olo
il > | mMrmio
| O m
S5 = olelglw
;U;UO =770 |Q
)
J>j>><z\ 3
o6 cIN = =08
PN IR
@ N TIP3 =
@ L cClZ|T X0 =
i = —|ln|lun|nl-
1B m || O oo
1 v -
] -
iy 3
[k @
&
L
]
5
]

13



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Electrical Assy, Floor Track, 24' Pullout
Drawing C

=)

i

=K

=)

i

=T

Y-

=

)

i

2):

)

2 f
& ]
O rand
g ]
- %) 0]
< il
z| L r
Nlo|o owﬁm %ﬁ G
SNV O = = =
o OI>- <=2 %
Lls|lolT|=Z =
§o<r® S SK
Of—|— | O
% FF\ZX§<
Ol ST |olE|E
NalO]O Nl =
Wl ol <o [l
ElrS ] ol vl n
mm04§<j<j
: ~
= . —|o
Emm\g o
m| | o T
oo = e
ol << < || XX
© o [a e
xS 1 =Y e
o %
[
¥ MM —| —
S 7| s || T
o
® Mo
oo~ — 00
SOl S22 3 N w
21 N o =2
NmefOOO
Qoo |62
o
gfwm%maomoo

14



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Enclosure Mount, Floor Track, Rear

Drawing D

NO. |[REQ'D| PART # DESCRIPTION

95 7 17110 LOCKNUT, 1/4—20 NYLON

1120 2 300142 | BOLT, HHC 1/4-20 1/2"

117 1 400007/ 8 X 6 X 4 ENCLOSURE, RWKD

PART OF 800007
DETAIL OF ASSY. 400092

95,1172

m oo

WT. REAR mz>zzmr\

WIRE CABLE, /700025

15



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

OPERATING INSTRUCTIONS

An emergency stop circuit controls electrical power to all parts of the conveyor. When any one
emergency stop switch is activated, power is removed from all motors and actuators stopping all
movement of the conveyor frame and bed. All electrical power is also removed from the motors and
actuators when the DOOR DISCONNECT HANDLE is in the OFF or OPEN positions.

A.

With interlocking door disconnect in the ON position and all Emergency Stop buttons out and
optional Cable Pull switches in the run position, the operator pushes either RESET button. The
MASTER CONTACTOR is energized and the machine is ready to respond to the operator’s
inputs.

. Moving the joystick in the DOWN direction starts the traversing motor in the forward direction

after the beeper is sounded for approximately 1.5 seconds , moving the unit toward the dock
door. Releasing the joystick will return it to its centered position, stopping the motor. Moving
the joystick UP starts the traversing motor in the opposite direction after the beeper is sounded.

The LEFT and RIGHT positions of the joystick cause the steering actuator to steer the unit. The
unit will steer in the same direction as the joystick movement when the unit is moving forward.

The conveyor bed is controlled by the OFF ON pushbutton. Pressing it once will start the bed
after the beeper is sounded continuously for approximately 1 second. When the bed is running,
pressing this pushbutton turns off the bed.

At any time either EMERGENCY STOP switch may be pushed to de-energize the MASTER
contactor. This will remove power from all motors and actuators. To restart the machine, the EMER-
GENCY STOP that was activated must be deactivated by twisting on the button. The switch should
pop out. Either RESET pushbutton can then be momentarily depressed and the conveyor will be reset.
Any motor that was running prior to the Emergency Stop will have to be restarted through the
Operator’s Control Panel.

A feeder control switch provides dry contacts for a customer connection to control the feeder for
the spur or any other function the customer requires.

PROGRAMMING PACKAGE STOP PHOTOEYES:
Switch on 127 x 12” enclosure on the extension should be in the down position for normal
operation.
To program, flip switch to up position. Cover photoeye for the desired shut off
delay time required on the conveyor belt. There should be a continuous beep for
the time the photoeye is covered during programming.

16



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

OPERATING INSTRUCTIONS (conT)

PROGRAMMING PACKAGE STOP PHOTOEYES (continued)

Return switch to the down position for operation.
To return to default settings of 3 seconds delay, flip switch up and down three times in 2 sec.
The default settings will be reinstated and the switch is in down position for operation.

INDEXING OPTION AND PHOTOEYE PROGRAMMING:
This conveyor can be equipped with an electronic package indexing option.
The indexing option is switched on and off using a selector switch on the operator control
panel. In the on position, the conveyor is in normal operating mode. When the switch is off, the
conveyor will index packages a programmable distance after they pass through the indexing
photoeye located on the transition.
Programming this distance follows the same procedure as the package stop photoeye
except you will cover the indexing photoeye for the desired conveyor belt run time after a
package is detected on the transition.

17



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

MAINTENANCE SCHEDULE

The BESTREACH Conveyor is virtually maintenance free. However, we do recommend the follow-
ing:

Keep the conveyor clean and free of debris, dirt and grease accumulation.

Inspect belt for wear and proper tracking.

Make sure photoeyes are clean and unobstructed.

Inspect all bearings for leaking seals or other early signs of failure. (Conveyor belt
rollers and Rear axle pillow blocks)

Check chain tension on the rear axle drive.

Visually inspect floortrack and flexible cable carrier and cables to ensure proper
working order.

Test all EMERGENCY STOP switches to verify proper operation.

Oil in the Motorized Head Pulley is to be monitored and changed per owner’s manual
specification.

All of the above maintenance inspections should be conducted daily.

18



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Assembly Diagrams of Components and Parts List
of BestReach Rigid Belt Conveyor.

19



BestReach Rigid Belt Conveyor

FMH Conveyors Operator’s Manual

1 802021 Decal Group for Long Rigid Belt
1 802018 Rigid Belt, 48 Main Electrical Assembly
1 802008 Rigid Belt, Extension Transition Assy
1 B02003 Rigid Belt, Extension
1 802002 Mainframe, Rigid Belt, Front Assy
1 1802001 Mainframe, Rigid Belt, Rear Assy
1 1800080 Assembly, Rear Suspension
1 |BO0O068 Power Steering Assembly
1 1800056 Rigid Belt, Assembly Front Suspension
11302182 Rigid Belt, LH Extension Stop Block Weldment
1 1302064 Rigid Belt, RH Extension Stop Block Weldment
1 1302016 Rigid Belt, 48" Frame Belt
4 1300556 NUT FLANGE 1/2-13 SERRATED
1 (300512 Nameplate 460V, Std. Speed
1 300376 Main Elec Enc. W/ Panel, Std Speed, 460V
2 300349 MAINFRAME JOINT BAR
9 1 1300335 Head Pulley, 1 1/2 HP., 65 FPM
8 4 1300006 HELICAL SPRING LOCK WASHER
7 4 1300005 SCREW, 1/2-13 X 3 HHC
6 6 [12020 WASHER FLAT 3/8"
S |16 11142 LOCKNUT 1/2
4 6 11140 LOCKNUT NYL 3/8 NE
3 | 20 [10063 SCREW, HHC 1/2" X 2"
2 2 10052 Bolt, Hex, 3/8-16 X 2
! 4 10042 SCREW HHC 3/8-16 X 1
ITEM| QTY NAME DESCRIPTION

BestReach Belt 460V, Standard Speed, 52'-62'

20

200000




FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

BestReach Belt 460V, Standard Speed

28'-38'

5

s < Wee,
GRS e @
R D

A Do,
S
SO

CE
LSt
HAt
Y
R S
S
AW

.—.A‘%nu‘ﬂ—.ﬁ\m«r
%

e
S

DOt

lfwuw,n—ww.\—.whﬁh o,

E AR =
GRS >
fﬁ.—’«..ﬁ ww»—.w—. DGR

S
.,.,...f._,. ﬁ@nfw\.ﬁv
Af.\fr.r\f

W
i

AT A
SR
: .—,,.\’f.ww@,wﬂ’«w..——%.%

At

QD
DOOOOO

NOILdI¥0S3a JNYN | ALD [ NBL
IX91—8/¢ OHH M3JOS Zvooll ¥ | |

Z X 91-8/¢ XeH ‘1°g 2500l z | ¢

.C X .2/l OHH ‘M3y0S 900l ¥ | ¢

N 8/¢ TAN LNNMOOT orvily 9 | v

.8/S 1v1d Y3HSYM 020zl 9 | &

OHH ¢ X £1-2¢/1 "M3J0S 500009 ¥ | 9

HIHSYM Y001 ONIMAS TWOI13H 90000¢| ¥ | £

Ndd S9 “d'H ¢/1 | ‘kelingd poeH sec00¢l L | 8
AO9v 'PoedS p3S ‘jeubd /M OUF 09|3 UIDW g/c00¢l L | 6
peeds pPiS ‘AD9© @3pjdeuiDN Z1s00¢] L | O
Q3LveY3s €1—2/1 JONVIE LINN 95500¢] ¥ | L1l
juswiplop »oojg doys uoisueix3 Hy ‘yeg pPIbiM|  $90z0¢ L | 2l
jlog ewodgy 2 ‘yeg pibry £6020¢] | | €1
juswipiafh 4o0jg doys uoisusixy HY yed PIbIM| Z81209 | | ¥l
uoisuadsng juosy Alquesssy ‘jjag pibiy 950008 | | Gl
Alquessy bulies)s Jemod 890008 | | 9l
uoisuadsng Jupay ‘Ajguusssy 080008 | /1
uoisueixy ‘yog pibiy £00z08 | | 8l

Assy uoljisupi| uoisueyx3 ‘yeg pibiy 800z08 | | 6l
Assy yoys ‘yeg pibry ‘ewpujuiopy clLozog L | 02
Alqwiessy [00119219 UIDW $Z ‘Yog Pibly 610208 | |1z
jleg pibiy yoys Joy dnosg |poeq ozozogl | | zz

21



12
NN Q
COGHENNG AN
&)
©

@0
@
G609

802021 Decal Group for Long Rigid Belt

802018 Rigid Belt, 48 Main Electrical Assembly

802008 Rigid Belt, Extension Transition Assy

802003 Rigid Belt, Extension @@@g@a
802002 Mainframe, Rigid Belt, Front Assy

802001 Mainframe, Rigid Belt, Rear Assy

800080 Assembly, Rear Suspension @

800068 Power Steering Assembly

800056 Rigid Belt, Assembly Front Suspension

1302182 Rigid Belt, LH Extension Stop Block Weldment @

BestReach Rigid Belt Conveyor

302064 Rigid Belt, RH Extension Stop Block Weldment

FMH Conveyors Operator’s Manual

oo O B B =[N =| = B =| =| = = == = = == = =

302016 Rigid Belt, 48" Frame Belt
300556 NUT FLANGE 1/2-13 SERRATED
300514 Nameplate 460V, Opt. Speed @
500378 Main Elec Enc. W/ Panel, Opt Speed, 460V
500349 MAINFRAME JOINT BAR
300334 Head Pulley, 3 H.P., 120 FPM @
8 300006 HELICAL SPRING LOCK WASHER
7 300005 SCREW, 1/2-13 X 3 HHC
6 12020 WASHER FLAT 3/8”
5 |16 [11142 LOCKNUT 1/2
41 6 11140 LOCKNUT NYL 3/8 NE
3 [ 20 10063 SCREW, HHC 1/2” X 2"
2 2 [10052 Bolt, Hex, 3/8-16 X 2
1 4 10042 SCREW HHC 3/8-16 X 1
ITEM| QTY NAME DESCRIPTION

BestReach Belt 460V, Optional Speed, 52'-62'

22



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

BestReach Belt 460V, Optional Speed

28'-38'

b

TR0 Pese
R AR fo,,
AR oo,
LA e
SV AL A R 3
L O e
A A
A A

R RO
Sttt

SO
U .«h«%.ﬁﬁ%

AR
PR
At
< .?\\’r.r»f«.\w &
P

LA
SATAY
.A—ﬂ——f >

SR

AU

Q;
D000,

NOILAINOS3d JNYN | ALD AT

1X91—8/¢ OHH MI¥0S Zv00l v | L

Z X 91—8/¢ XeH ‘ilog zs00l z | ¢

.Z X /1 OHH ‘M3IHOS £900l) ¥ | ¢

IN 8/¢ TAN LNNMOOT oviil 9 | ¥

.8/€ 1v14 Y3IHSYM 0z0zll 9 | §

OHH ¢ X ¢1—2/1 ‘M3¥0S S0000¢] ¥ | 9

MIHSYM MO0 ONIMHS T¥OIIH 90000¢] ¥ | £

Nd4 0ZL “d'H ¢ ‘Aejnd poe ¥$200¢] | 8

AO9¥ ‘peeds 3dp ‘jpubd /M Ouj 993 UIDW g/c00¢] 1 6
poeds 3d0 ‘A09% s3pjdewoN ¥1500¢[ L | O}
QILYHN3S €1—2/1 3FONVI4 LNN 95500¢] ¥ | L1
juswpiop >oojg dojys uoisusixy Hy ‘yeg pibry| v90209 L | 2L
}eg swoi4 vZ ‘Heg pibiy /60206 | | ¢
juswipiap >1o0jg dojs uoisueix3 Hi ‘yeg pibiy|  zglzog L | vl
uoisuedsng juod4 Alquiessy ‘yeg pibry 950008 | | Gl
Alguiessy buuissys Jemod 890008 | | 9l
uolsuadsng Jpay ‘A|lquisssy 080008 | /1
uoisusIx3 ‘j|eg pibry £00c08 | 81l

Assy uopisupba] uoisuaix3y ‘j2g pibly 800208 | | 61
Assy 340ys “yjog pibly ‘suipijuiop ¢10c08 | | 02
Alquiessy |0oU399|3 UIDN $Z ‘}eg pibiy 610208 | | lc
yeg pibry poys 4oy dnouy |odeQ ozozogl | | zz

23



BestReach Rigid Belt Conveyor

FMH Conveyors Operator’s Manual

1 1802021 Decal Group for Long Rigid Belt
1 802018 Rigid Belt, 48 Main Electrical Assembly
1 1802008 Rigid Belt, Extension Transition Assy
1 802003 Rigid Belt, Extension
1 802002 Mainframe, Rigid Belt, Front Assy
1 1802001 Mainframe, Rigid Belt, Rear Assy
1 800080 Assembly, Rear Suspension
1 1800068 Power Steering Assembly
1 1800056 Rigid Belt, Assembly Front Suspension
1 (302182 Rigid Belt, LH Extension Stop Block Weldment
1 1502064 Rigid Belt, RH Extension Stop Block Weldment
1 1302016 Rigid Belt, 48’ Frame Belt
4 300556 NUT FLANGE 1/2—13 SERRATED
1 300511 Nameplate 230V, Std. Speed
1 1500377 Main Flec Enc. W/ Panel, Std Speed, 230V
2 300349 MAINFRAME JOINT BAR
9 1 1300335 Head Pulley, 1 1/2 H.P., 65 FPM
8 4 |300006 HELICAL SPRING LOCK WASHER
7 4 |300005 SCREW, 1/2—-13 X 3 HHC
6 | 6 12020 WASHER FLAT 3/8"
5 |16 11142 LOCKNUT 1/2
4 6 [11140 LOCKNUT NYL 3/8 NE
3 |20 |T0063 SCREW, HHC 1/2" x 27
2 2 |10052 Bolt, Hex, 3/8-16 X 2
1 4 10042 SCREW HHC 3/8-16 X 1
ITEM NAME DESCRIPTION

BestReach Belt 230V, Standard Speed, 52'-62'

24

2006086,




FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

BestReach Belt 230V, Standard Speed

28'-38'

5

A

,\, J-.
S AT
WA A
A A e
Lt
A Gt
RS
ATt Al
S A A
R
S
Ar.’—,w\w«—uum’—.w\»’(’f

S
Attt
..‘——«r_%‘.\.v’.u._

&U
DOOOOU

NOILdIN0S3d JAYN [ ALOD N3

1X91—8/¢ OHH M3I¥0S Zvo0l v | |

Z X 91-8/% xeH ‘Hog zs00l z | 2

Z X ¢l—2/1L OHH M3¥0S 900l ¥ | ¢

IN 8/¢ AN LNNXOOT ovLlL 9 | ¥

.8/¢ 1¥14 dIFHSVM 020zl 9 | S

OHH € X ¢£1—¢/1 ‘M3¥0S 500009 ¥ | 9

HMIHSYM MO0T ONIMAS T¥OI3H 900009 ¥ | /

Ndd G9 "dH ¢/I | 'Aslind poay G009 L 8
AOCZ ‘peeds piS ‘jeupd /M Ouj Oe[3 UIDW £/$009] | 6
psads pIS ‘A0¢¢ 23pjdowpy 11600¢g] L | Ol
03Lv843S €1-2¢/1 FONVI4 1NN 955009 ¥ | Ll
Juswpep %o0jg doys uoisusix3 Hy ‘Yeg piby|  $90z0¢ | | 2l
jeg swbi4 vz ‘yeg pibiy /60209 | | ¢
juswplop o0lg doys uoisueix3 H1 ‘yeg pibiy|  zglzog L | ¥l
uoisuadsng juod4 Alquessy ‘yog pibiy 950008 | | S
Alquessy buuessis somog 890008 | | 91
uolsuadsng Jpay ‘Alquiassy 080008 | /1
uoisusyx3y ‘yog pibry £00z08 | | 8l

Assy uopisubd] uoisu2ixg ‘yjog pibRy 800208 | | 61
Assy poys ‘yeg pibry ‘ewniyuioy ¢10z0g8 | |0z
Algwiessy |pou3oes|3 UIDN vz ‘yeg pibiy 610208 | | lZ
y2g pibly poys Joy dnodg |pos(g 020208 | |zt

25



BestReach Rigid Belt Conveyor

FMH Conveyors Operator’s Manual

1 1802021 Decal Group for Long Rigid Belt
1 802018 Rigid Belt, 48 Main Electrical Assembly
1 1802008 Rigid Belt, Extension Transition Assy
1 1802003 Rigid Belt, Extension
1 1802002 Mainframe, Rigid Belt, Front Assy
1 1802001 Mainframe, Rigid Belt, Rear Assy
1 1800080 Assembly, Rear Suspension
1 1B00068 Power Steering Assembly
1 1800056 Rigid Belt, Assembly Front Suspension
1 1302182 Rigid Belt, LH Extension Stop Block Weldment
1 1302064 Rigid Belt, RH Extension Stop Block Weldment
1 1302016 Rigid Belt, 48" Frame Belt
4 1500556 NUT FLANGE 1/2—13 SERRATED
1 1300513 Nameplate 230V, Opt. Speed
1 13003579 Main Elec Enc. W/ Panel, Opt Speed, 230V
2 300349 MAINFRAME JOINT BAR
1 1300334 Head Pulley, 3 H.P.,, 120 FPM
8 4 |300006 HELICAL SPRING LOCK WASHER
7 4 1500005 SCREW, 1/2—13 X 3 HHC
g 6 |12020 WASHER FLAT 3/8”
S5 |16 11142 LOCKNUT 1/2
4 6 [11140 LOCKNUT NYL 3/8 NE
3 | 20 [10063 SCREW, HHC 1/27 X 27
2 2 [10052 Bolt, Hex, 3/8-16 X 2
1 4 10042 SCREW HHC 3/8-16 X 1
ITEM NAME DESCRIPTION

BestReach Belt 230V, Optional Speed, 52'-62'

26

(D@EED




FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

BestReach Belt 230V, Optional Speed

, 28'-38'

T A
TR
R EEE Biesee.,
R AT AT
SV DA
P 0 A AT
AR AR AT
A
L
S e
LS AR
S G DR
A G
A R R O A e o,
S A A N
SR .
RO
A 2 PR o
A, N se.
A A A A A e
A A A
Sttt See
S W
1;!\

NOILd1¥0533 INYN [ ALD [N3LI

LX91-8/¢ OHH M3¥0S ool ¥ | L

Z X 91-8/¢ xeH 08 zs00l ¢ | T

Z X ¢1—z/1 OHH M3¥0S c900 v | ¢

3N 8/¢ AN INNXOOT orLLl 9 | ¥

.B/S 1V14 ¥IHSYM 0zozll 9 | G

OHH ¢ X ¢1—¢/1 ‘M3J3S G0000¢] ¥ | 9

YIHSYM X007 ONINGS IvOIIIH 900008 ¥ | /

Nd4 0ZL “"d'H ¢ 'Aslind PosH ¥££00¢] L | 8

A0Sz ‘peads 3do ‘jlpubd /M Ouj 08|3 UIDW 6/500¢] | 6
peads 1do ‘A0S 21pjdawon £15008 | | 0Ol
31vy¥3S ¢L—2/1 3I9NVI4 1NN 95500¢] v | 1L
Juswplap %oojg doys uoisusix3 HY ‘yeg POY|  $9020¢] L | ZI
312G ewpiq vz yeg pibiy 160208l L | ¢
JusWp|ap 1oojg doys uoisusix3 H ‘Yeg PIblY|  28120¢] L | ¥l
uoisuedsng yuodqy Ajquiessy ‘yeg pibiy 960008 | | Gl
Alquiessy Bunssis Jamog 890008 | | 9l
Cowwr@ijw D3y %,ngmw< 080008 l /]
uoisusix3y ‘jjeg P! ¢00c08 L | 8l

Assy uonisuod] uoisusix3 ‘yeg pibly 800208 | | 61
Assy oys ‘yjag pibly ‘suwinijuiopy ¢10c08 L | 0¢
Alquiessy |0oL309|F U vz ‘Heg pibly 610208 | |l¢
y2g pibly poyg oy dnoig po3Q 0zozog L | ze

@ T ,!
DORODD
@

27



BestReach Rigid Belt Conveyor

FMH Conveyors Operator’s Manual

Rigid Belt, Front Half, Frame Assembly

1 802010 Rigid Belt, 12 X 12 Encl. Assy
T 402004 17 Liquid Tight Flex X 39"
7 402003 17 Liquid Tight Flex X 23"
4 1402000 Rigid Belt, Return Idler Adjustment Plate
2 502039 SCREW 1/2—13 X 3 Fully Threaded
2 1302035 Rigid Belt, Head Pulley Push Mount
1 1302029 Rigid Belt, Front Pulley Guard
1 1302012 Rigid Belt, Snub Roller
1 |302006 Mainframe, Rigid Belt, Front Weld’t
4 1300371 1/4"-20 U-TYPE CLIPNUT
3 1300367 1" Straight Flex Connector
2 300366 1” Rigid Conduit Coupler
2 300365 1” E.M.T. Straight Compression Connector
1 [300297 Bushing, 1" T&B Plaxtic
9 4 |300264 Screw, 1/4=20 X 3/4 FHS
8 2 300075 Roller 1.9 x 29
7 2 300069 NUT, 1/2-13 JAM
6 S 15099 Cable Pad Self Adhesive
5 3 15025 Cable Tie 7 3/8 L, 3/16 W
4 4 12020 WASHER FLAT 3/8"
3 8 11140 LOCKNUT NYL 3/8 NE
2 4 10052 SCREW HHC 3/8-16 X 2
1 4 10042 SCREW HHC 3/8-—16X1
ITEM]QTY | NAME DESCRIPTION

28



29

FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Rigid Belt, Rear Half, Frame Assembly

—[ M| | | U1 O | ca| ©f S

ALO JNTL

JNYN
L
8

™~
N
— 2]
o
@] Olp
X 7 o|=
o=z - :
m_|C B o
[ N @ e
ST DI A e o
0= il r\‘> | N 2
Ew’f <> | @ [N 4 c
Ol HT;LNXX ik ) =
s Sl e 92 @ O
|0 NN R | o
NN SES 2| c [
o= NI = o= =S o
=5 N @ o < =
NI T o o
T|T 5 Y
o|xT = e
b
9
I
=
™ ¢
<
D
=
=]

JAYN

RIS

NOILdI¥OS3d

S
C
o
3 <’
= %
3|~
IES
Q1w 2| ¢
[Ce)
: )
®




d Belt, Short

121

BestReach Rigid Belt Conveyor

FMH Conveyors Operator’s Manual

Mainframe, R

28 4 300394 SCREW ALLEN, 1/4-20 X 1

27 | 2 (500372 #10 X 17 HWH TEK Screw

26 | 4 |500371 1/4"-20 U-TYPE CLIPNUT

251 2 (300370 1/2" Conduit Hanger

24 [ 3 [300367 1" Straight Flex Connector

23| 2 [300366 1" Rigid Conduit Coupler

22 | 2 [300365 1" E.M.T. Straight Compression Connector

21 1 300364 1" 90 Deg Flex Connector

20 | 2 [300344 Rigid Belt, Tail Pulley, Take—up Bolt Ass’

19 1 1300341 Tail Pulley Guard

18 | 2 300333 Head Pulley Mount Block

17 2 300297 Bushing, 1" T&B Plaxtic

16 4 |300264 Screw, 1/4-20 X 3/4 FHS

15[ 1 [3007131 Connector, 1/2" Straight Flex

14 4 300113 Bushing, 1/2" Plastic 1 1802010 Rigid Belt, 12 X 12 Encl.

13| 5 [500085 1/2” 90 Deg Flex Connector 1 402003 1" Liquid Tight Flex X 23"

12 2 |500075 Roller 1.9 x 29 1 1402002 1" Liquid Tight Flex X 74"

11 10 [300069 NUT, 1/2-13 JAM 4 1402000 Rigid Belt, Return Idler Adjustment Plate
10 | 4 [300048 SCREW, 1/2-13 X 1—-3/4 HHC 38| 1 [400192 1/2" X 83" Conduit

9 | 4 [300007 SCREW, 1/2-13X1-1/2 HHC 37| 1 [4007191 1/2” Liquid Tight Conduit x 39"
8 3 15099 Cable Pad Self Adhesive 36 1 1302082 3/8" 90 Deg Flex Connector

7 3 [15025 Cable Tie 7 3/8 L, 3/16 W 35 2 1302039 SCREW 1/2-13 X 3 Fully Threaded
6 4 12030 WASHER FLAT 1/27 34 2 |302035 Rigid Belt, Head Pulley Push Mount
5 4 112020 WASHER FLAT 3/8" 33 1 1302029 Rigid Belt, Front Pulley Guard

4 4 N1142 LOCKNUT, 1/2-13 NYLON 32 | 4 |302012 Rigid Belt, Snub Roller

3 8 [11140 LOCKNUT NYL 3/8 NE 31 1 1302005 Mainframe, Rigid Belt, Short Weldment
2 4 0052 SCREW HHC 3/8-16 X 2 30 | 2 |300502 Rigid Belt, Take—up Pulley Block
1 4 10042 SCREW HHC 3/8-16X1 29 4 1300398 1/2-13 X 5" HHCS

ITEM| QTY NAME DESCRIPTION ITEM| QTY NAME DESCRIPTION

30



31

FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Rigid Belt Extension

-
=\ S5l il |9
19 E o
) > o [<C om|@ ga °
w%%‘(‘ R Eﬂw a% >
<2< |2 [S]E %o;’)LO; Aol |&
5|2 |aln|e N<LH o [
slel8(” el @TITIE[|8 oo Ng
Sllalelsels P ] 8 ]e|x HE S
2 el 2n 18] o <|[<|o|2
OLE || FBE =S o2 X |G o] Y S
i A I P o B P R S T B P R el
DS x| W mlc olc| olRE
== agémmmga 5 qmlU’E
Ol<|21c] (b Sl | || “lclol ez
ANEEIE N e NE SR
s elelele| S IxwIelalelx @als| | 2
Ll—|elclolo | e) o|2|c|o 4 | Ot
x| _|51e|s|c|e|B S<lo| s c|5 %]
Wi ziels|el|slZ|e g xR T e =
=T O |l o [>< |0 X%
N Rl e e ol e e e IR
B i E|@ o] P .
[y n 5| <] I
o= | 5| Rl =R = == O|—
ClRbEEe] ez EE | gE]® .
ciER o FlZEm® @ (o 5]
2 22 =(2 ool |G
x| [X[o= = = 2l 18
f o= | =12
™ | = wle| |5
o M
[
— o "
1|1
- lolo ks oo ool (ol v s E
—[=lelclolElcloRlelllwol @S
cpoopDPolereoPpPEelee|olB—ele|loo
N[N [N [N [N O[O O [N [N [ON[ON[ON (O[O [N [ON ] OY [N
clolololowwiplololelololelololololo
60 |60 |60 |60 |00 |~ I~ ™ S 5 [ IS S |5 9 9 9 14 o
© -
— [ [ [ = [ [ = = = e e e b e e s
™~ o
o~ ol M= (oo o~ o o N
D [0 o 0 [0 [0 0 |0 % |5 [« < [« < [«
<
<
o
€2 &
o= | | b ~
1 L= Eﬁm 5 ©O=| <+ n
53 e | >
202 > S = | oo|—] | %)
E olc|8|x 8 @ 1) =<
3 FleB|8l=] || [2ln|<INm] == ™o lol—
5 o ol el [o|P2|™ = |3 ©
o2 2725 [Bl-|W o | ><|—
ng o oS £ T o~ ~1<|—
° 2|8 |x|=|=|5|© of | Iz o | |=
55 o e e R e N A e e R N e i
i 9= Sl o Mo [— Ny = ST < E
L w @ <[t Lre hNNRIS T| 1=
r T £lo (o gl L] (T o T I O NI ==
i 58 STy B S B o O S e meznfg< ®|5
1 5% Clell]| . |ELE mjﬁﬁ[\vwﬂ E SR
r 0 < 5] 5l = |9 - > ]
151 L T o —lx|o of !
xr og e =19|9|5 |51 2|a| 8 |E]|=N| & N | 2<|S| 2|+ P
L S0 0|5 12| |2 > 1212 ©ol=| oY s|T
1 } =23 @iein 2= |o|Z|1ZI- BIEEE A
: 83 o |<|6 = ° A ze L €
, _ 255 ~ =lolo Sle
5 se 2= o N =25 Olo
r 2% ] = olal - |E ? 3
L A o |x o|Q|F] |o
< o o5l |8 o}
= o |0 2
s =N
@ L gx
inLALr O |~ o5 o |5 [N o o [~ |0 v o = o o |0 I~ [
Ui SO S N N = = I~ [© [ o oo D v D X5 | =
L Slowmmi=|l=l=lclolclclolclclololololeE
raE NNololololololcleleeelclelelelelale R
H olololclcloelolcleloRlolclgleRelee
T M) M M M) [P MY MDD (M) M) N R M M) M) N D D [N (M)
I >
N o [ e e [ e s e e e
n
(@) < o © M= oo o~ |o NN
< < oY el e N e e A e e S S Y N [o
=
0 T]
— <
(@) ©
4\ O i
™~ L > o~ o ]
i o < S N
— FLITEL ~ P 5
> w
o (< I~ o~ %ﬁw\j»A% §<\r§ B[S
AL = “IZ|~ | [ [ || I|x
= EREE I I A N P I e S R
ﬁ i ) - o g0 [M]|— X N =
2 o R o
Sl < ||l s B o Pt g =
R (O woffg&g*mééo‘o S| x|
T o Nz ol 5|18 o
(@) o ~ = x| 5 w57 =2|S|TRolo
N O o WS- |a o |oe ~
\ B S B S R o] PO e e 2 B I e
) S5 @005 o] T|T|alX|Z|— 11T a
= N g REIEEo a|n|2(0|€(5]k =
Te) i e e I = <= |Z|OS5 12| F| Dl |2
— 5 =" =SB EEE2812 ||
HO ==z » = 98 SN
~ 0 0 S|@ S5z R b o-1Q
O N < 2 5P
£ =
o @
N
=
—
© o |0 1) [© [~ =
Q’MN(\I‘*DLDC)V\DDC)NC)DC)OUMNDQ:
= SIS BEBERIERREEFERLEREE
o
9(\1(\1(\1(\1\*(\1(\1(\1(\1&0#&0(\1@3(\1#&00{]%
=
RIZRE LR ERNZ 2o 0 0o s oo = [




FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Rigid Belt, Extension, Push Bar Sub-Assy

ALO [NFLI

JNVYN

NOILdI¥OS3d
[oYA

so0J4o ybnouyy

obupy} Jaqusws:
o} poy dojs ysng

.2/ pusyxe

32



BestReach Rigid Belt Conveyor

Rigid Belt, Extension, SW Sub-Assy

FMH Conveyors Operator’s Manual

NOILdI¥0S3d JNYN | ALO [N

G/¢v L X Q1 9¢ x Q0 8/¢ “eondsg g6t | |
8/G—/2C X v/ ‘exy 06020¢] | z

D7 pgze x Q1 9¢ x Q0 8/¢ “4eonds 160205 8 ¢
91/€L x "d'0 9L/SL L ‘IS ‘|evymeiois 08009 6 | ¥

33



, Brake Cable Assy

1011

BestReach Rigid Belt Conveyor

FMH Conveyors Operator’s Manual

d Belt, Extens

JTANVH IMvHEG “JIVId 1OINNOD| <L LOSY | 6
HT °.8/¢ "INN X3JH| 0%<¢00% | 8

¢ " JAT ® MOOH ‘I1MoNg NNl SS000& | [
L2/ NNV JAFFTIS ¥S000¢ |4 9

L8/ 1 “JTGNIHL 31gv0|  £5000% 4 G

L/ L X gl=¢/1 "OHH '1109] /0000¢% | 14
NOTAN ‘¢1—=2¢/1 ‘INNMOOT Zrlll | 3

.8/¢ "INN X3H 8CS0! | 4

vid c¢/¢ (—/ ‘T1gv0|  ¥$000L |GCvl |
NOILdI4053d ON 1dvd | ALO |IN3

121

R

34




35

FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Rigid Belt, Extension Transition Assy

Weldment

= c
3’52@3\
ZZ| 2™
I e I P
O[S S
@ o= ‘f‘\’Z
= —
o 0|+ |@
= Zlzlo| =N E
oM —]=
=lom
c | I |© o
) Z|Z|o|—|o©
‘5 Zl= T |
cle|g|e | 0] 0T
olo Yo Dlo| a
— =0l LS =
SIS ol Moo
A RIE3e)l=
[ S| | e it
o< o [To) et |
= o |m e o
o
[an] oo kel
5 oo o
) o |z r
2

< 0o~ o S
00 (@ |~ [0 = |— o] oo =
Olo 00O ]| |ov|— = <
NN N[N Do [« [« || =
ololoo|O|D |- |—
MM M) M M) v o |
fﬁfﬁfﬁﬂ“ﬁcmnguv\/i
(e}
© |0 |<F | |— o =
;;ﬁéﬁk;JW(()\\@LDQ’V\)F\IﬁE




FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Power Steering Assembly, Rigid Belt

ey
|
|
|

‘UDISUBYX® JO pua U0 XOg
|04ju0o J0jpiado OjuUI SJUNON

O} 2|gpo J0jON}OD Bl

2UNSOIDUS Z| X Z| OUl yNpuod

‘Alguasso uoisuadsns Juody
0} S$}02UUOD PUD SWIDIUIDW }O
JuoJ) bl 0yuo SIUNOp

Ul 10}100dDD J0}DNIOD SP|OH

(0S0008#°6Mp)PUs 7| X 71|

36



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Assembly, Front Suspension

800056

ITEM | PART NUMBER | QTY DESCRIPTION
1 300325 1 WT. FRONT SUSPENSION

) 300013 1 BOLT, HHCS 1 1/2 — 12 X 3 1/2 GRD8
3 300014 1 NUT, 1 1/2 X 12 CASTLE HEX

4 300015 1 PIN, 3/8"@ X 2 1/27

5 300012 34 | BEARING, 1/2 BALL STEEL GRD 25

6 350169 2 BEARING PLATE, FRONT STEERING

7 300024 8 BOLT, 1/2" — 13 X 17

8 300006 8 LOCK WASHER, 1/27

9 300010 2 ASY. WHEEL 570/8 FOAMED FILLED

10 300020 4 | BOLT, HHC, 5/8—=11 X 2

11 300021 4 | WASHER, FLAT, 5/8 X 1/16”7

12 12135 4 | WASHER, LOCKING, 5/8”"

13 750002 1 WT, CHANNEL, FRONT SUSP.

NOTE: Use existing
harcdware along with
kit to install leg

extensions,

OO~

37



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Assembly Rear Suspension

SAY3dHL NO 3L11LX007 3Snx

£00008 "ASSY
“IN HOLIMS 1IN
‘3-3 Tv13Q 33s

£00008 "ASSY
“LA TION3
‘3-3 7Ivl3a 333

pejely

=h cl

Evierile

=

IS eSS E NS ESE!

dv3d NV

NIVW

TIYNSIA JAISNI o04 T3LLINO T133HM
HY INY AYAY 1N3 NMOHS TavND NIVHO

£00008 'ASSY ‘34NSOTINI
‘0373 AdYWIdd LW 12373
-4 71v13a 338

/€ ) X TE-0LF WHY MINOS ' 802008 or NOTAN 91-8/¢ INNY¥DOT | ¥ oriiL €z
QL# ‘4IHSYMANOOT z 202008 14 OHH /¢ X 91-8/¢ ‘1709 14 - w2

ZE—0L# ‘INNX001 Z T-6LT}1 jad OHH /€ X 0Z-v/1 ‘1709 < 01001 1z

VIO v/ HIHSYMMOOT £ X454} 34 Ll X 0Z-g/L ‘1108 901 | oL ¥£000§ 0z

VId v/ MIHSYMIYIS | € 000z} [24 QyvN9 NIVHD "ASSY | ££000t 61
HOLIMS dOLS '13X0veg | 9,100¢ 34 LZ/L S X DS Z/L ‘A L L6000t 8l

WZ/L T X 91-8/¢ ‘108 | T 1£000¢ ov £ X DS 2/ A L 96000t L1
L2/L L X 91-8/¢ ‘108 | T 0£000¢ 6 a1
OHH .£ X £1-¢/) '1Tog | € 500008 8¢ 3408 .2 HIOOL BE 094 13X003dS ' 6£000¢ Sl
NON €1-2/1 "LNNXO0T 4 4411 L8 3308 .8/l | HIOOL ¥1 09# 13¥00ddS L 8¢000¢ 43

L X €1=2¢/1 'OHH ‘1708 | ¥ rzooog 9 105 X084v39 | ccooog <l

VIQ Z/) "YIHSYMMOOT | ¥ 90000¢ R dH Z/1 | HOIOW L 220008 14

d01S "SOd ‘1S0d | SL100g iey SOHS & X LL—8/S ‘1108 4 200008 L

.8/S '"YIHSYM ¥001 | ¥ szl ef 437108 H3INIVLIY ‘HIHSYM \ £8100¢ o}

d3sn 1oN 43 Q3TN4 V04 8/04'S T33IHM "ASY | T 0}000¢ 6

OVHLIY09 ‘ININHOVLLY ¥v3Y i 770007 I NIVHO 09# YN 43LSWA | ££0008 8
INNON YOLON Y0018 "rav i 881008 0g 437704 094 NIVHO L ¥6000¥ L
.8/€ YIHSYMNOOT | ¥ ogizi 6z IV 4v3Y ‘BnH M | T 781008 9

OHH .Z X 11-8/G ‘1708 | ¥ ocooog 8z NOY130_ ‘437110 L 98100¢ S
.8/8 MIHSYM 1v1d 6 020zl Lz 37108 NOY13d ‘dvea L 681088 +

W/€ X TE-0LH WHY 'M3Y¥OS b c-ogsol 9z 003 .C ONI¥V3G X0018 MOTIId | € 62000€ <
00S YS3 ,l X £1-2/l ‘M340s | SY0008 sz 3IXY 3JANA | ££100¢ z
OHH Z/1 € X 91-8/¢ ‘1109 | 9£000§ +Z 937 uv3d UM | 50000/ |
NOILJI¥0S3d AL0 | ¥38ANN Lavd | 3L NOILJI¥0S30 A0 [ 438NN Lavd | 3Ll

38



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Spacer Kits for Front Legs Optional

3” Spacer Kit

pam—t
i

AR

3 1 402013 Rigid Belt, Front Leg 3" Spacer Weld't
2 2 300220 5/8=11 X 1=3/4 Lg HHCS
1 2 12135 5/8 Lock Washer
ITEM| QTY NAME DESCRIPTION
5” Spacer Kit

3 1 402014 Rigid Belt, Front Leg 5" Spacer Weld't
2 | 2 |500270 5/8-11 X 1-3/4 Lg HHCS

1 2 12135 5/8 Lock Washer

ITEM] QTY NAME DESCRIPTION

39




FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Spacer Kits for Front Legs Optional

7” Spacer Kit

3 1 402015 Rigid Belt, Front Leg 77 Spacer Weld't
2 2 1300220 5/8—=11 X 1-3/4 Lg HHCS

1 2 12135 5/8 lLock Washer
ITEM| QTY NAME DESCRIPTION

9” Spacer Kit

Rigid Belt, Front Leg 9"
5/8-11 X 1-3/4 Lg
5/8 Lock Washer

DESCRIPTION




FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Spacer Kits for Rear Legs Optional

3” Spacer Kt

3 1T [402020 Rigid Belt, Rear Leg 3" Spacer Weld't
2 | 2 [300220 5/8-11 X 1-3/4 Lg HHCS
1 2 12135 5/8 Lock Washer
TEM | QTY NAME DESCRIPTION
5” Spacer Kit

3 1 1402021 Rigid Belt, Rear Leg 5" Spacer Weld't
2 | 2 [300220 5/8=11 X 1=3/4 Lg HHCS

1 2 12135 5/8 Lock Washer
ITEM| QTY NAME DESCRIPTION

41



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Spacer Kits for Rear Legs Optional

7” Spacer Kit

3 1 402022 Rigid Belt, Rear Leg 7" Spacer Weld't
2 2 300220 5/8-11 X 1-3/4 Lg HHCS
1 2 12135 5/8 Lock Washer
TEM|QTY NAME DESCRIPTION
9” Spacer Kit

Rigid Belt, Rear Leg 9" Spacer Weld't

|
|
|
§

X 1-3/4 Lg

5/8-1

= /= Woahor
5/8 Lock Washer

DESCRIPTION




FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Light, Optional

£80-9Id dO1S
3O9X09d LM

@EE

N

®,

780-0Id LNOYA
T3NVd 09LNOD LM

ININWGINOF T¥NOILHO

L LINANOHED “T10H 8Cc00% | 9

NOTIAN “INNXOOT OLLLL 9 S

OHH 17109 cv100¢ 9 14

INJOS3IHO 14 IHOIT Lcc00¢ | 2

LSV TIvE 13M0VHd 710057 | 4

J10H ¢ ¢/ | d3ONvH LINANOD 9Cc00% 4 |
NOILd14053d ON 1dvd | ALO | N3l

43



BestReach Rigid Belt Conveyor
Fan, Optional

FMH Conveyors Operator’s Manual

ININGINOT TYNOILJO

MOTI3A FHIM INN [ @ 9206]

L X 91-8/¢ OHH ‘1109 ]| ¥ 2y 001
NO—=dATH0 "JOIOINNOD ONIF | 7T 9T0CT
9L/L X "' ,C8/EL X "Q°0 L TTAN "Y3IHSYM | 2 /8121
NOTAN 91—8/%¢ "INNXMOOT | ¥ OvITT

NV4 SI3MIvEd 13AIMS | 2 £100G¥

uo4 b7 bupjunoy jeg pibiY| 2 €G500€

1 62200€

NV4 01410313 .2l

SIEWNN  Ldvd

44




FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Decal Group for Short Rigid Belt

Decals 1 & 6 located
under disconnect handle.

Decals 1 & 6 located
on 12X12 Enclosure lids.

Decal 2 located near
bottom edge of frame,
directly over tires, both
sides front & back.

Decals 4 & 5 located
near top edge of frame
under guard both sides
front & back.

— _ Decal 6 located on side
o] 4 Decal, Shock Hazard of operator control panel,
5 4 Decal, Equipment Starts/Stops Automatically
4 4 Decal, Keep Guards in Place
3 2 BestReach Logo 57
2 4 D , Keep
[ 3 De
ITEM| QTY DESCRIPTION

45



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Decals 1 & 6 located
under disconnect handle.

Decal 2 located near
bottom edge of frame,
directly over tires, both
sides front & back.

gomoo,m 1 & 6 located

on 12X12 Enclosure lids.

Decals 4 & 5 located @

o))

99020

JI9uZuU

near top edge of frame
under guard both sides @

Decal front & back.

| B On

500104

Decal 6 located on side

Decal Group for Long Rigid Belt

S ENENENENIS

TR Nah
300103

<OZD@® of operator control panel.

=
m|—| N

M| QTY NAME DESCRIPTION

46



BestReach Rigid Belt Conveyor
Rigid Belt, 12 X 12 Encl. Assy

FMH Conveyors Operator’s Manual

NOILd140S3a INYN | ALD (N3
7/SX02—+%/1 OHH M3¥0S olo00l ¢ )
Buiid ynpuod o = -
(e1900 /s o)) Wb 04 NOHO0UN 3SiS 5INS0[OUT JO WO}j0g WoJ) Z\,c)ﬁ%wf W ﬂ
jolRy NS L 7/S b @lon Bununop z/1 010561 ¢
104 noxoouy puz 80009 ¢ 14
6000g | | S
| Lloogl ¥ | 9
S VI~ _ L1oogl z | £
B / ﬁ L7/ 337134 NIVILS cz100d z | 3
IS omﬂj S M3l HMH .. X 017 2/900¢ v | 6
o8l 5 ®o f sibboy ISdsS lzsoog L | 0l
| : |
| |
| |
| |
| |
g |
i i M3J2S punoJs Joj
i i HO uibd pung
| \
‘ﬁ@f - - |
1 m - i
¢ 9 Ed
—— joy ¢ ﬁ
W‘T saksojoyd Joy
I joljey ulbAas

2inso|oul
J0 wioyog wod4 g/| T
(z) @104 bununop  z¢/6

9JNSO|OUT JO WO0}0g WIoU)
L& 2eloH bununop  g//

J0}DN}OY JDBUI
104 4oley UIDAS

47



, 12 X 12 Encl. Assy

10N

FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

2nd Knockout For
3/4" Strain Relief

9/32" Mounting Hole (2
(for S/0 cable) / e (2)

:
:
.

i >
i © o © o

Grind Paint Off \

for Ground Screw

d Belt Extens

121

o ® [N ©)] @
8 4 1300372 - -
7 2 |1300115 . ]
6 2 1300113
5 T (300091
4 2 1300089 2nd Knockout For
3 2 |15010—-N 3L/BOX 1/2 NPT 3/4" Conduit Fitting
2 3 {11110 0 ck Nut
1 3 10010 V. HHC 1/4—=20X3/4
ITEM| QTY NAME DESCRIPTION

R

48



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Assembly Diagrams of Electrical Components and
Parts List of BestReach Rigid Belt Conveyor.

49



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Rigid Belt, 48 Main Electrical Assembly

O D == = = = e =l e (= =l o =l e (= =Sl e (= =

‘\mEEEEEEDEEEEEEEEEEE
TR R R R R (e e e
ErEE R R R CE CE . S

@ ©) ® @

a. TFFN, Yellow (feet)

16

ription

52 |100042
ltem]| Qty Name

50



51

FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Rigid Belt, 24 Main Electrical Assembly

SWDN A0 [wey
7270001 8z

uonidio

%@

e

0
D

—

%

=0 20 20 20 o0 21 210 20 20 o]
=1 =20 20 20 o1 21 210 21 20 o]
=10 =20 20 20 21 21 21 20 2]

=11 211 20 20 210 200 21 201 2o 20 2]




FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Main Electrical Hook-Up

NNNNN

+9 -g ¢1 ¢l |1

NNNIN

A

179

O O O
| | |
] ] ]
Il Il Il

[

TX8X J0D SX ¥X EX oX AOD IX OX - +

LA MDD 9A A WOD YA £A WOD ZA IA NOD OA GO N 1

O O O

e e S S
SIS © o
SES SRS
© 2
Sse ©e
T
I
il @@ @@

172 21
90 it HH 90 110 _yo07u0) dots bid
SO FH HH G0 Ul 1903000 G035 Boid
Z9 Y29 DN Jonuol dois—3
1o Ht EH 19 ON JONUON J0is—2
09 H| Qg 0O JoluoN dotg—4
2o o P70  WsysAS 3son woly
20 B U Z0100uoy_Jopss] Wold
[ 10 1H = 0 103U0) Jepasq O]
fOWw‘ ——= |0 LH8ISAS 3}soH wWol4
Z8 mwm
Il [0
[l [
[l [
[ [ 0
[l [
[l [0
[l [
Ll [T
I Mj
121 2
9 B L
v5 HH 59 300 dojs—3 ojousy
[icpmim] LI—<9 U] doys—3 sy0wsy
e ¢
T 68
%6
T 3
0og
66 \_/66] punoig Addng

52



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

\V Assp bulnp ||p}sul —

44—

[o

g, 2

01
11

cl

d Belt, Main Elec. Enc. w/ Panel, STD 460V
Al

1g1

R

HOLIMS 1O3INNOOJSId v0e d000 NdHL 434 L 43
INUYo0| 1INpuod z/| N—=010S1| 4 el

A 09v QLS “Assy |aubgq 0DOM398(3 UK }2g pibly| /0¥00% | Zl
v/¥1 felley ubns 7/ £1200¢ | L

2/9l lelgy uons Z/1 S1100g D
SM3Y0S "HOVA .2/l X z¢—8| 86000% z 6
(3N0GV) ¥3ATI0H ¥O4 dWVT | 72009 | 8
439NV ‘¥3QT0H dJAVT L0TId 0¥ 200% 5 L
d4377Nn8 OV NOCL| 6%£200% | 9

1353y ‘31v1d IAVN 8¢ 100% | G

JIVIdINYN ‘dOLS —3 L6008 L i4

d01S—3 ‘NOLLNgG HSNd wWwg ¢ 00100¢ | ¢
NOLINEG HSNd WWG0¢ 66000¢ L 14

OMM3IY “FYNSOTONT 0313 vIX¥ e £9¢00% | |
NOILdI¥2S3d # 19vd ALD | 43

53



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Main Electrical Panel Layout, 460V, Std Speed

[=]=]
op
[=]=]

@

> b o

@ @ 01d 152008 L [z

W m AOGZ Wb esng 9G£00¢ L | oz

@/ SECEIEEE 952005 | 1 | 6L

o 5 EXEEREEEE] Y7007 | 8l

AN oy NId 9vz00¢ | | | 21

104Uy [OUIIS] 8¥200¢ | 9 | 91

//@ dop pu3 6vC00% 9 | Gl

00]g [oUIiIz] (%2008 | 1v | vL

Colr o] AO9Y eAud beiy OV dHZ 1/200¢ R

OO0 2o s8 (S - - — 1 cl

2] o POOLIBAD,/M J81I0YS dH 2/1 | 75008 R

W @ M o oo /@ ] TeA0) 1ond edim G5z00¢ ¢ | ol
o @o Pmnlz) S REAE ¥5Z00¢ | ¢ | b

s O Tho - POy 108UU0DSI] 6S£00S I | 8

@\\_%_ o8 © ®® 2 2 2 ®/@ 3|puUDH }0euL0DSI( 8G200% | /
G 2] “—0 1050000810 1000 V0§ /CC00¢ R

O \ @ @ @ @ O JODJU0D XNy /2008 L S
JoyoDyuo) ajod £/200¢ L v

AOGZ ¥z ‘esng 76200¢ L | ¢

000 AINO 3ON3Y3ITY TVNSIA ¥0 7006 V6T 35N g9co0c | ¢ | ¢
ANV NIVA 40 LNOAY T ININOJWOD YADOS "dINJOISNYEL 108INOD 0S£00¢ Lt

NOILdI40S3d # 1dvd ALO ‘43

54



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

d Belt, Main Elec. Enc. w/ Panel, STD 230V
Al

| Asso Buunp pajjo}suI~_| /
01
1
//H

44—

gy 2

. \S

HOLIMS LO3INNOOSIA vOE d00d NAHL 43 | 43
W20 ynpuo) 7/ | N-010SL | z | ¢l

A 07 Q1S ‘Assy Joubd DOLYO8|3 UK Yeg pibry| G6500¢ R
v/v| 4219y uons z/L | £1200¢ | Ll

3/91 4oy ulbiasS Z/| Gl100¢ I |ol
SM3YOS "HOYM .Z/L X ¢e—8| 86000¢ z |6
(3N0GY) ¥IAI0H 304 dAV1| L+Z00S B
H3gAY '¥3dT0H dWy1 101Id 0¥¢00% 3 /
Y437ZNg OV AOCI| 6£200% L |9

13534 ‘ILv1d JNYN 82100 | g

J1v1dINYN ‘dOolS —3| £Z600S N

d01S—3 ‘NOLLNG HSNd WwWwg Qg 00100% | ¢
NOLLNG HSNd WWs'0g| 66000¢ [ 4

OIM3Y 'IYNSOTONT '0313  ¥2*¥e £9¢00¢ | l
NOILdI¥3S3d # 1yvd "ALO EER]

Rigi

55



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Main Electrical Panel Layout, 230V, Std Speed

O
NENNY \@
5] o 5]
0o n \g
5] o
inl inl
@ D J1d 1GC00% I |1z
(&) ANOGZ Wy sy 95c00s | 4 | oz
5o0]g oSNy 9S200¢ | 1 | 61
5 [2UDg >obg ¥¥200¢ | 1 | 8l
AN 159 NIQ 872005 | | | /1
JoUDUy [oulIB | 87200 | 9 | 9l
/@ don puj 6%200¢ 9 | Gl
5o0]g [DUIIIB | 72008 | 1¥ | vl
AOSZ 2MIQ baig OV gHe 272008 | 1 | <)
OO O 22 o8 @ - = — Tzl
pPOO[IBAD,/ M I310YS dH ¢/ 1 | $G00¢ | 1 | 11
s oo /@ IRECREEREN 6Szooe | ¢ | o
S8 @ee STLoxo L feng edim ¥GC00¢ |6
POy 192UU00S|( 652005 N
" 2 e
@ ﬂ ss @0 —(2) sIpUDH 308UU055(] 855008 | 1 | £
Gy K4 “—0 1030U0581q 160 YOT /G200¢ L | 9
O E @ @ @ O 10DJU0D XNy /2008 | S
10}0D1U0) 2j0d ¥ c/z008 | 1 | v
AOGZ WZ esng 752008 | 1 | ¢
0080, AINO 30N3Y343Y IVNSIA HOS A0DY Vo s Gsco0s 13
TINVA NIVA 40 LNOAYT ININOJNOD VAOQS ‘H3MNHO4SNYEL 108INOD 05500% | 1 | i
NOILdI40S3d # 1dvd ALD | "43d

56



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

460V

101N

Elec. Enc. w/Panel. Speed Opti

911

d Belt, Mai

igi

R

\V%mmo bunp ||p1suy| —

3 —

[o]

39VLT0A

==l

(eI ITe]
2 2

[o Bl 2L 6]

S
® [s] ‘

HOLIMS 1O3NNODSId VOS¢ 900d NaHL EEN EER
W0 Jnpuo)  Z/L [ N=010ST [ Z | ¢!

A 09% uondQ pesds ‘Assy |pubd DOM}OS|3 UIDK | 96500% | 71
/vl 99y uonS 2/ | £1200¢ l Ll

3/91 Joley ubis z/| S1100¢ L |ol
SM3IY0S HOVA .2/ X Z&—8| 86000% z |6
(3N0GY) ¥3ATOH 804 dAVT| L¥200¢ | 3
43NV Y3IATOH dAV1 LOTId| 0¥200¢ L] .
¥377N8 OV AOCL| 6£200% L 19

13538 ‘3L¥1d IAWN| BSL00E L | g

JLVIdIWYN ‘dOLS —3| £Z600¢ Ly

d01S—3 ‘NOLLNG HSNd wwg'og| 00100¢ R
NOLLNg HSNd WWg' Qg 66000¢ | 14

AIM3Y ‘IYNSOTONI 0313 vIxve £9¢00¢ | !
NOILdI40S3a # 19vd ALD | ‘434

57



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

NNNNN

F8 -8 oL 2L 1L

NN

TTer T

@

> b

58

JUNO |IDY ulg ‘ADjoy 75500 | [44
@ @) 01d 1G£00¢ L [1¢
@ AOGC vy ‘esng 95¢00¢ | 0c
@ 1o0|g esny 9G2¢00¢ | 61
@\\ o [suDd »%opg Y¥Z00% | 81l
/ 110y NIQ 9¥¢00¢ | /L]
Joyouy |Dulliia]| 8% 00¢ 9 9l
/@ doy puj 6% 00¢ 9 | Gl
%00|g |bullie | [¥C00% v | ¥l
AOSY '2AlQ beud OV dHZ 1 £200% | ¢l
oe o8 |S _ - - L cl
o \ : /® AO8Y ‘dHE '°@AuQ “beuy Ov 60500¢ | Ll
| JaA0) 1ong odIM GGZ00¢ ¢ | 0l
eSS @e «
W @ M ss oo @ m® /@ LG XL 9ng eam ¥SC00% ¢ 6
Y5 & | POy }02uUU03sI(] 6G200¢ L S
@\\H_ ®® o o ®® @f/@ S|PUDH 1082UU0DSI(] 8G¢00¢ | /A
ONONGO) @\\ 2] 2 }08UU0DSIg 1000 V0T /G200% L |9
© \ E E E E l/@ O J0DIUOD XNy ¥/200% c o)
J010DIUC) 2l0d ¥ £/200¢ | 14
AOGCZ V¢ ‘esng 2G6200¢% | ¢
000 AINO JONINIATY TWNSIA HO4 7005 Ve T 55n] doc00s | z | ¢
TJANYAE NIVIN 4O 1NOAY T ININOJNOD YAOOS "HINJOJSNYHL TOYINOD 0G£00¢ | |
NOILdI¥0S3a # Lyvd ALD | 43d

Main Electrical Panel Layout, 480V, Optional Speed



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Rigid Belt, Main Elec. Enc. w/Panel, Speed Option 230V

\V Assp Dbuunp ||p1sul —

[Oo]

43—

39VLI0A

/

1

EEERE

BEEE

IANAR

cl

01
1

I

g, 2

HOLIMS L1O33NNOOSId VO¢ o000 NYHL 434 [ EER
INWO0T ynpuo) . z/| N-010G1 4 ¢l

A 0¢g uondQ peads “Assy |suUbd DOLIIOS|T UIDJ £6£00¢ | Zl
v/vl J9lley UDAS /1 Z1200¢ | Ll

8/91 jeley uPAs . Z/1| SL100¢ L |ol
SM3YOS "HOVW .2/l X Z§£—8| 86000¢ Z | 6
(3N08Y) ¥3AT0H ¥04 dAV1| L#200% L 8
H3gNY H¥3IATOH WV LOTId 0¥ 200¢ | A
4372Zng OV AOCIl| 6$¢00¢% | 9

1353y FIv1d JAVN 8¢100% | S

JLVIdINVN ‘dOLS —3 £2600¢% | 14

d01S—3 ‘NOLINg HSNd Wwg0g 00100¢ | ¢
NOLLNg HSNd WWg'o¢ 66000¢ | 4

OMIM3IY FINSOTONT 0313 ¥Z*ve £9¢00¢ | |
NOILdI¥0S3a # Luvd ALD | 43

59



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

NSNS \@
NSNS

ANINNN

Q
- =

> © o

60

2 @ 01d 152008 L[

m AOSZ vy ‘esny 96200¢ | ac

%20|g esn4 9G6200¢% | | 6l

5 [subgd »ong v¥200¢ I | 8l

AN 5y NId 972008 | L | Zu

Joyouy |DulllIS | 8% 200¢ 9 9l

g //e doy pu3 67C00¢ 9 | GL
100lg  |bullia] L¥200% v | vl

AO¥Z ‘eAug "baig OV dgHZ 2/200% | ¢l

o L - - - | Zl

ee eo(9 [y ~_|e AOYC 'dHE ‘erug beij v 01500¢ Lolobl
Ll 4er0D yong edim GGC00% e 0l

MM MM ®ﬁ® /@ Gl X L ong edim vSc00¢ 1l 6
= 5 %f POy 3}o3uu02sIg 65200% | 8
(I —(2) 3|pUDH 198UU0dS|( 85£00¢ L | 2
@\\ @ @4/@ o 102UU00sIJ J0oQ vY0g £LS¢00¢ | 9
10DIU0D XNy ¥/200¢ L S

ol o [l [ 10Y0DYU0) 90 ¥ £/200¢ I

ANOSZ VZ ‘esn4 ¢5c00% | ¢

AINO JONFdT49d IWNASIA 404 A009 VG| Bsng 09700¢ | z| ¢
TANVS NIV 40 LNOAYT ININOJNOD VAOOS “YINYOASNYYL TOYINOD 06¢00¢ | |
NOILdI¥0S30 # Lavd ALD | 43y

Main Electrical Panel Layout, 230V, Optional Speed



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

1

1Ca

, Electr

1011

d Belt, Extensi

121

R

=1 21 2[00 200 23 21 o1 2 20
=1 =20 =20 =20 20 =2 =201 = =21 2]
MUMDMDMDMHMDMDMDMU%

O

e

uondiuosaq SWDN A0 |way

(3234) Pay ‘N44L ©b g} “eum Zv0001 81 | |
(y3}) U889 “NHHL 0B 7| “BiM 6¥0001 81 | ¢
06 1 —Z| ‘Pms gF o4 ‘jpuiwis] z—Glosl 62 | ¢
06 yL—71 ‘pms Gz' buly ‘jouiwis) 9L06Y z | ¥
31/¢ X 8/¢ [ ‘el 21900 GgosH ¥ | G
MO[[BA NN &JIM 9¢0Sl ¥ 9

YolIMS 1030818S /806Gl | L

Jopas4 ‘eipjdwpp Q0G| | Q

(3234) SHUM ‘NJ4L ©b g} "eum M—082G51 81 | 6
uoung ysngd 66000¢| ¢ 0l

4yoyms doys—3 00L00¢ L | 1L

doys—3 ‘ejojdawiny £2600¢] | | 2L
440/NO_‘e3ojdawioN £eL00g] L | gL

1353y ‘eypjdawon 821008 | | ¥l

(3884) MojieX ‘N4JL ©b g} "aapm £0500¢] 81 | GI
0z x G/8|" ‘uuo) epodg epwey £//00¢] Z | 91
U0}IMS0.IDI JDF Ysng Gr/00¢ L | /)

=
©

] —]
[

61



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

BestReach™ Rigid Belt Schematics and Wiring
Diagrams

62



BestReach Rigid Belt Conveyor

FMH Conveyors Operator’s Manual

e N S MEG SR
© ® I F o@® o )
Ty S =
(== sagaszsszon o] o EEEREET TTERLER
- o L o
\ d L \ d
o L o
. b o
| JE
W ... UL ...
on b on 78 70901
B ml il B ml 98 Joloy o1
oV | i oV |d S8 I3[0 0L
v | L w0 79 0N 1901U0g dojs—3
i i 19 _ON 190ju0) dois—3
_UM Ll _UM 09 _JJOJ_Jo0IUoy dois—3
€1 21 11 Jg@ > e 27 1 e 20 [01U0) Joposy Wioid
W3TSAS TSOH Ol
oO®o oO®o WoYSAS }SOH Woi4
i |© |o = @ o = Y |04juoy Jspssd4 O]
RIS = o O N =
90 InQ 30oDjU0) dojs byd
G0 Ul 1oPu0] do1S B4
0 YOHUMS 99d Jd
¢€0___§'0 Xspul_dg Wouy
o |oo NoE o s s |8 s o [o |u ¢0 3d Xspul dg_Wwol4
£ |© Sjo o | [R|KIS |0 |0 | 6/ PPO[JSAQ [DWJISY[ WIoJ4
ST IRTSISTST G pusi o
87 TWIT pusixy Wod4
| It | | ¥V 330/NO_Ppeg UWolH
TX jo0 OTX ZX X 0D SX ¥X X X hoD IX Ty 9SJoAsy YONRSAGL o4
123 PE
L7 14Dly {onsAop_Wwiod4
Oy 1Jo1 Sohskor ol
6C  doys aboxopg woli4
/ JOH Jazzng Ol
59 [OTTSN J9ZZNg 0|
LA NOD 9A SA :}Oo:?,:m», EOU:N», Eonu:O»,:D&o:Z 53 [2UEIN i) WLD&M
e v I 68 [oupd Jojpiadg o)
JA4 OVAOZ L ,o.mcou 240dg
~ N /T [SUdd Jo3pJadg o)
sl B8 7R PP /Z duwio] joiid ol
71959y W04
REENIE
81 119S38y o]
81l 7 _doys—3 woiy
62 ]aubg_JojpJadg o)
L1 z doys—3 o}
L] 1d01S—3 wiod4
N o 9 3 1doys—3 oL
o o N oM < 9 d01S—3 8j0way woi4
e B e RSN mmo doyS—3 eyoway of
N
[

[14

B8 J0YoNyoy Jbaur] o]
9G J01DNY0y JDsul] O]
GG 10300y Jbauj] OL

Main Electrical Panel Diagram

T S0DJOA 5UN
AR NI
T 8DOJOA &0l

ﬁ@J o e ® HHH 2 Z mm punoIy A[ddns
° 2 Ole

d lel lgl Lo PR—

: , : i dvd SNg 0L A1133a10
G311 39 ISAW gNADND

A1ddNS "'SINIWIAINO3Y
N 133W 0L a@3sn 38 LSAW
dvd SNd ONICNNOYD

63



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Rigid Belt Schematic, STD. 460V

MRS
Contact 4
I 34 LA, 58
1T L r
F3
top! E-Sto Remote E-Stop
Operator's Panel Main Panel  (Jumper if not used)
— 2A
18 17 64 o B3 58
F4
Reset!
Main Panel oy
Secondary
18 27
4 . o
PLC
Reset2
QOperator’s Panel U L2
ol
L 18 27 Piot Lomp o)
MRS %\{ i
Aux, Contact 1 2 A
18 |27 27 >\[)\
[l
Moster Reset Contactor
2 4 Pole w/2 Aux Contacts
~ /‘\
N
27 MRS
E—stMr @
PLC Input X7
27 m °
Pulley Thermal 38
Overload Switch PLC Input X10|  §
79 3
5
Bed ON/OFF PLC Input X4
M [
° BED
~
o Joystick PLC Input X2
Forward Bumper Bar
T 10 42 PLC
FWD
Joystick PLC Input X3
Reverse m
43 PLC
‘o
\\R’_E\y
Package Stop
Photoeye PLC Input X0
1 3 (o)
w
Extended PLC Input X5
imit m
48 PLC
- &)
Retracted PLC Input X6
Limit m
49 PLC
i
Optional Indexing
Photosye PLC Input X1
Phwthen IerX\m% ._® oxP
uggg?yﬂe fim”gr Optional Indexing
s @ Junp Over Ride PLC Input X1 1
must ke placed
here in Main Panel, —w o 10 03 m
S
PE Programming PE PGM,
oo 04
BED — o0 Bed Conctoctor
PLC Output 4 /—\
i : (=)
Buzzer Annunciator
PLC Qutput 5 m 2
| ’ (=)
Joystick
Right Linear Actuator
B 59 \L Left
Joystick Copacitor 1
Left
5 56
Right
Optional Fan
w/integral switch
20
Optional Light
29

{r

Door
Disconnect

22
23

480V
Primary

22
F2
- MRS
I N | of m
o w9 | W W
480V AC input
70 -+ %
AC Frequency
PLC FID Drive
PLC Outpul 0 w,/Overcurrent
}i Protection
PLC REV
PLC Output 2
Output

Traversing Powered Roller
Motor for Belt
240V,/480V 480V
3 PH 5 PH

1.5 HP

INTERFACE CONTACTS

60

Remote E—Stop

MRS Monitoring Contacts
Aux. Contact 2

61

MRS
Aux. Contact 2

01

Feeder Control

Qo

L

02
o——— 0

05

Package Stop Contact

PLC Output Y7

4{ 06




65

29

FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Rigid Belt Schematic, STD. 230V

MRS
Contact 4
| |
[

34

58

[

E-Stap2

Qperator's Panel

E-Stop
Main Panel

Remote E-Stop
(Jumper if not used)

[RENE- I

Disconnect

500 VA
64 - 63 L 2A 58 18A L o

18 17

Reset1
Moin Panel

22
23

120v
Secondary

240V

18 27 Pilot Lamp Primary

18 5 o =7

15 A

58

o
Reset2 27

22
Operator's Panel

A

L

18 27

2% o o~£lg

Master Reset Contactor
4 Pole w/2 Aux Contacts

MRS
Aux, Contact 1
18 |1 27 27 27

)

RS

€

E-Stop Monitor o
PLC Input 7

27

27

31
32
33

—| o m
o 1l 0

O

Pulley Thermal
Overload Switch PLC Input 8|
9

240V AC fnput

— T~ BC
10 AC Frequency

Drive
w/Overcurrent
Protection

Bed ON/OFF
PLC Input 4

L
°le 44 BED

PLC Input 2

PLC FWD
PLC Oulput 0

D

71

PLC REV
PLC Output 2

8
5
H
£
5

27

Joystick

72
Forward

Bumper Bor

710 42

Joystick
Reverse

oo + R

Package Stop

Output

-
B

PLC Input 3

()

Photoeye
e Traversing Powered Roller
__@ 39 @ Motor for Belt
w 240V/480V 240/480V
Extended PLC Input 5 3 PH 3 PH
Limit /\ 15 HP 15 P
48 PLC
= \= )
Retgacted PLC Input 6
imi
o 49 PLC

RL

(o)

Optional Indexing

Photoeye PLC Input 1

When Indexing

60

Photoeye is not /_\
used, a jumper H 03 PLC
must be placed IDXP Remote E—Stop
here in Main Panel, —| Optional Indexing MRS Monitaring Contacts
Over Ride PLC Input 9 Aux. Contact 2
oo /\ 61
L5 04 PLC
IDXS
BED Bed Conctactor MRS
PLC Output 4 m Aux. Contoct 2
} } = \Bf/ e
Buzzer Annunciator
PLC Output 5 m ©
I 7 \B“Q 01
Joystick
Right Linear Actualor Foeder Control
5T 55 Lot eeder Control
\L aj_a 02
L6 o—"— o
Joystick Capacitor ]
Left
56
o] e Right
Optional Fan
w/integral switch
29
Optional Light
29

W
A4



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Rigid Belt Schematic, Opt. Speed, 460V

MRS
Conloct 4

I 34 A 58 U 3
[l

N

D
E-Stop2 E—Stop! Remote E—Stop Diseonmect
Operator's Panel Main Panel  (Jumper if not used)
500 vA
18 T 17 T, 64 Sy 15A L,
Reset1
; o ™
Main Panel 50y N
- Primary
— 18 o 2 -
o P
Reset? 22
Operator’s Panel 27 A
L
18 o 5 27| - MRS
Master Reset Contactor
MRS 4 Pole w/2 Aux Contocts
Aux. Contact 1
| | “ = @
2 E-Stop Monitar
N PLC Input 7 .
o 27 © b= I B9
Pulley Thermal Overlood ; ;
Yy o BLE dnput B 4BOV AC input 480V AC input
70 73
4{ }—di AC Frequency AC Frequency
Bed ON/OFF PLC | 3 Dri B Dri
nput 4 3 PLC FWD rive 3 rive
m §| Pc oo o w/Overcurrent § | oen mewy e w/Overcurrent
44 . jon * < i
—o BED 5 Protection H Protection
3 PLC REV 8
N 3 | PLC Output 1 a
Joystick PLC Input 2
Forward Bumper Bar output oot
sTo 10 42 PLC
FWD
Jaystick PLC Input 3
Reverse
,_o—r 43 PLC
REV
Package Stop
Photoeye PLC Input O
P Traversing Powered Roller
H 39 @ Motor for Belt
NG 240V/ 480V 240/480V
Extended PLC Input 5 PH 3 PH
Limit m 1.5 HP 2 HP
O O 48 PLC
w
Retracted PLC Input &
Limit m
o 49 PLC INTERFACE CONTACTS
RL
Optional Indexing U
When Indexing Photoeye PLC Input 1 60
Photoeye is not 03 m MRS Manitoring Contacts
used, a junper H Aux. Contact 2
must be placed IDXP i Remote E—Stap
here in Main Panel, — Optional Indexing ,_{ }—610
Over Ride PLC Input 9
oo /\ MRS
6 o 03 PLC Aux. Contact 2
PE Programming IDXS 4/{/}/—820
04 i
Belt — Belt Reloy 0
PLC Output 4 m
|| 75
1T u Feeder Control
o g
Buzzer Annunciotor R
PLC Output 5 m 2
05
! ’ L)
Joystick
Fiaht Lineor Actustor PLC Output Y7 Pockage Stop Contact
55 \L Let 08
Joystick Capacitar ]
Lef
56
© Right
Optional Fan
w/integral switch
29
Optional Light
29

203



67

29

FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Rigid Belt Schematic, Opt. Spee

MRS
Contact 4

|| 34

I

E-Stop2 E-Stop1
Operator's Panel Main Panel

18 To 17, Ts

Remote E—Stop
(Jumper if not used)

84 -

<

>

63 2hn 58

500 VA 15 A

Reset1
Main Panel

18 o 27

o
Reset2
Operatar's Panel

L 18 27

MRS
Aux. Contaoct 1

120v

Pilot Lomp Secondary

27

Master Reset Contactor
4 Pole w/2 Aux Contocts

205

£

27

Bed ON/OFF

44

27

R

G

E-Stop Monitor
PLC Input 7

89

Pulley Thermal Overload

4{

s
J

C Input B

~

@
o
o

PLC Input 4

PLC

T

Joystick
Forward

27

Bumper Bor

O—T0-

42

BED

PLC Input 2

-
o
13}

—‘710

Joystick
Reverse

43

B

P
o
5
S
e
2 e
5 )
“

———O o
Package Stop
Photoeye

39

g

PLC Input O

PLC

D

Extended
Limit

48

PKG

PLC

0

Retrocted
Limit

49

PLC

Optianal Indexing
When Indexing Photoeye
Photoeye is not

a3

- o
2 2
5 5
sl =3 m =3
22 og( P2 )2
o o

PLC Input 1

PLC

used, a jumper H

must be placed
here in Main Panel. = Optional Indexing
Over Ride

o

L—o o

04

IDXP

©

PLC Input 9

PLC

Buzzer
PLC Output 5
| | 76

IDXS

&)

>
z
B
5
a
2
g
89

Buzz

G

Linear Actuator
Left

—F 55

Capacitor

)
T

T

—F 56

29

w/integral switch

29

Optional Light

Lt

99

Direction Control

240V

Primary

70

PLC FWD
PLC Output O
71

PLC REV
PLC Output 1

Disconnect

22
23

d, 230V

= o M
w M M|

240V AC input

AC Frequency
Drive
w/Overcurrent
Protection =

Direction Control

Output

Traversing
Motor

240V,/480V

60

MRS
Aux. Contact 2

61

MRS
Aux. Contact 2

Feeder Control

alo g

o

PLC FWD
PLC Output 4

= o ©
ml m n

73

74

240V AC input

AC Frequency
Drive

w/Overcurrent
Protection

Output

Remote E-Stop
Monitoring Contacts

Powered Roller
for Belt
240/480V

5 PH

5 HP



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

DETAIL, FLOOR TRACK J-BOX. FRONT

v # 4 MOTT13A
ZL# 66 N33O 7L # | MOTIIA
vI# +9 a3y 4% o1 MOTT13A
7|4 £9 a3y z\# 4 39NVHO
vL# g a3y zL# 17 NMOYE
v # 62 a3y v # 79-09 MOTI3A
30NVO SYIGNNN FHIM 40100 3ONVO SY3IGNNN FHIM 401700

r/v 66 NEER)
/¥l ¢l a3y
v/ I JLIHM
v/l 1 MOV 18
8/91 66 N33H9
8/91 79 JLHM
8/9L £9 MOTT3A
8/91 29 Iniag
8/91 19 JONVHO
8/91 09 In1g
8/91 <0 a3y
8/91 L0 MoV
319v0 43GNNN 3uim | ¥0T00 3dIMm

o o
I I
S Cires
I I
1S i
I I

E_% »_ ¥

=Ellcl=)OIERIS /0]

J3INNON MOVdL A00T4

LINA 430NN
TINNYHO NI
d3LvooT 31gvo

ANVLS L1O3INNOOSIa
0l 1no

S3AIM 1TV 13avl

68



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

DETAIL, COMPONENTS, ELEC., FLOOR TRACK

| —20c¢

LOC—
Ol 1

]
o
—

|

o
[

002
\

L]

¢60007 "ASSVY 40 1IVL3d
£00008 40 1dvd

91

M0018 ANNOYD 'SOd ¢ 00800% | | ¢0¢
Y0019 TYNINY3L "'SOd + 1 0800% L | 10¢
AMMY ‘3YNSOTONT ¥ X 9 X 8 | L0000V L L]
MIYOS HOVWN Z/1 X Z¢-8 86000¢ | G |0l
00719 IYNINY3L 'SOd 8 Z08007% L 1 00C
43734 NIVYLS .Z/L | S1100¢ < | 97
NOILdI40S3d # 1yvd d.03d] "ON

69



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

DETAIL, DISCONNECT STAND

IN FROM
CUST SYSTEM

g
U

ouT TO
FLOOR TRACK

i
/

70



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

12 x 12 Enclosure Main Frame

STIUNIWGIL Ad04 2-C0IST# - v1
3AIS d0L9d3d40

IYNING3L Md04 GI0GT# - 1
STYNIWG3L Md04 2-GOIST# - v€
30IS IWvA4 NIVAW

66 ‘68 95 ‘GS 'v¥ €F 2v
‘6€ ‘62 Le ‘81 L1 "¥0 ‘20 ‘10
314YANILX3 NO 21T X 21

0L 3dNSO7ON3 21 X 21 WOodd
37v0 OS NI 03719V S3AIM

66 ‘68 ‘v¥ '€y 2y ‘6€

‘62 ‘L2 ‘81 LT 'v0O ‘€0 ‘20 ‘10
‘3ANSOTIONT 21 X 21 01 713Nvd
NIVW WOd4 T377Nd S3AIM

3AIS IWVA4 NIVW

JO30NEIY JDIUIT
03 21007

4oyoN3 oY uvaU
o4 4o3120d0]

UEFEN
Bulpuno .

¥0

L2

Lﬂ

Yo3ms 21660
BuwuBouy 8A3030ug

=}

3ng

SV 8l—

NMOE 62

T

suoipauU0D 3As030ud Uo
pasn S|oUOWIB} Hd0g ON

() sayqo]) akaoroyd doys aboxdog

~ /
3907 OS 8/91

AVSLILSY1d 0L

71



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

12 x 12 Enclosure Extension

3aIS 3WVdd NIVW

~ /
31907 O0S 8/91

STIYNINA3L Md04 2-S01ST# - 1
30IS §01vd3d0

MONSA “LNAN 3AIM  S20GTH - 9

OYNIWG3L Ad04 GI0STH - T

STYNING3L MdO04 S-GO0ISTH - ¥E
30IS 3IWNVAS NIVW

66 ‘68 '9G ‘GG 'yy €y 2¥
‘6€ ‘62 ‘L2 ‘8l L1 ‘€0 ‘20 ‘10
T13ANVd S,d3d0 01 3d4NSO710N3

21 X 21 WOd4 d377Nd STAIM

Nauds
Suppunouy

62 2V €V ¥

T

L2 €0 20 10

68—
66 —
GG —
96—
L11—
81—

62
2

—

66 ‘68 ‘9G ‘GG vy ‘Ev ‘2¥

6€ ‘62 ‘L2 '8 L1 ‘€0 20 10
34NSOTONT

319YANILX3 21 X 21 OL

3NV IWVAANIVIN 2T X 21 WOd4
3793 OS NI 037891 S3AIM

//

/téogou /€

3dIS S.d01vd3d0

72



73

Wiring Diagram Limit Switch

FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

©

ib

O

O ol
O g
N O

— 87

— 6%

MAIA - JUISN]



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Wiring Diagram, Operators Panel, Manual Steering

1HI917 IYNOILdO

GaEENG = = T e
vL A3/ Buixapul
. 440/uU0 pag 1043107 vspo9 4 youoldp
1
yyyyyyy
mmmmmmmmmmmmmm
o )
20
€0
® © g
©
° ° 1 ] @ ] wNotLad o
L2
@ ﬁ L2
S 22 L Vi

jputiey buu 9lOGL# — ¢

SINU BulmM 9ZOSLF — ¢
:sadinbay

‘INU SJIM D YYM PIIDUILLISY S|
CO# oM puUD POYIWO S| YOYMS
‘pasn jou si buixepul jpuondo

DUIU331S JONUO
(A03U WOUF O3IMSIAD

JANVA S dU LV 3dl

74



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Operators Panel, Parts List, Manual Steering

ITEM| QTY | PART NO DESCRIPTION
1 1 15087/ Selector Switch
2 1 15088 Nameplate, Feeder
3 2 300099 Push Button
4 1 300133 | Nameplate, ON/OFF s Sl o ol e
5 1 500400 5 Position Selector Switch the MANUAL STEERING option.
6 2 500401 Contacts, N.O. This B.O.M. does NOT apply
7 1 300402 Nameplate, Forward/Reverse wwsomﬁwﬂm@f&%@@ﬂﬁwjwaj%a
8 1 300138 Nameplate, Reset
9 1 500100 E—Stop Switch
10 1 500927 Nameplate, E—Stop
11 2 15026 Wire Nut, Yellow
12 S 15016 Ring Terminal
13 1 (1) 15087 Selector Switch (optional)
14 | (1) 300399 Nameplate, Index over ride (optional)
15 1 (1) 800013 Light Kit (optional)
ROONO0NN-00 RO9) ROONNNGOC
o @ o o © o o @ o FaN
® @ ®
Optional  Feeder Control Beo On/Off Forward/Reverse YAV
Indexing
Over Ride 7] [ , //, nﬂ \ Lh@ur

\ OPTIONAL LIGHT

75



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Operators Panel, Wiring Diagram, Power Steer

LHOIT vNOILdO

A
A21FsA0r 1043 U0] Japas 4 youol3dn

\rﬁ% @ G , L] [REN] mmﬁo& JOAT
uIxapur

+1npucy
5,U0ISUB1XT WOU 3

%ﬁ H 340790 pag
: R L
ot & @
SAINSOuD O wo OW%O O @
o @ o
2
J

ksvf«@
kgg—@
k%f@
-
EV\
I

JNUSUIM D YUM PalouluIIS} S!
CO# SJIM puUD POIIWO S| YdYMS
‘pasn jou si buixapur |puoiydo

jouluey bul 910G1# —
SINUoam 9ZOG LY — 2
Sonbes OuUlUaa1S damod

(A03U WOUF L3MIIA)D
NANVa S aldlvaddll

76



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Operators Panel, Parts List, Power Steering

ITEM| QTY | PART NO DESCRIPTION
1 1 15087 Selector Switch
2 1 15088 Nameplate, Feeder
3 2 300099 Push Button
4 | 1 300133 | Nameplate, ON/OFF RIS N e
o) | 300145 Joystick the STANDARD POWER STEERING.
6 2 500146 Double Contacts This B.0.M. does NOT apply
7 l 300147 Nameplate, Arrows %@%w%mm@%j the manual
8 1 300138 Nameplate, Reset
9 1 500100 E—Stop Switch
10 1 500927 Nameplate, E—Stop
11 2 15026 Wire Nut, Yellow
12 3 15016 Ring Terminal
13 1 (1) 15087 Selector Switch (optional)
14 1 (1) 300399 Nameplate, Index over ride (optional)
15 1 (1) 800013 Light Kit (optional)
BB 0 OO 0CONNo N0 G
o @ o o @ o °c @ ©° 7@ RIE RIE @
® ® @ O OWWO OM
e & B W)
Optional  Feeder Control Beol On/OfF
Indexing Joystick
Over Ride @ @

\ OPTIONAL LIGHT

77



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

AC TECH FREQUENCY DRIVES

Frequency Drive for Traversing Motor

The Best Reach Telescopic Belt’s traversing motor uses a 2 HP AC Tech frequency drive, model SF420 for
480V systems and model SF220 for 230V systems, to provide a soft start, programmable accel and decel
times and braking.

Control wiring used for this drive is the ALTERNATE TWO-WIRE START/STOP CONTROL found on
page 20 of AC Tech’s SCF Series manual. In order for the drive to function properly in this mode, a
jumper must be in place between the drive’s TB-2 terminals 1 and 2. Forward and Reverse is
controlled by the Best Reach’s PLC relay outputs wired to the drive’s TB-2 terminals 2 (common), 12
(forward) and 13A (reverse).

The AC Tech drive is field programmable. The following list shows the parameters that are programmed

before being shipped with the Best Reach unit. All parameters not shown in this list remain set to the factory
defaults.

Parameter List for Traversing Motor

Parameter Value
04 03
10 05
17 02
19 1.0
20 0.5
26 75
28 4.4
29 4.4

Frequency Setting: 60 HZ

This frequency drive has built-in over current protection. Ifan over current fault occurs, the drive will shut
off current to the motor and will display PF. While this error code is displayed, the conveyor cannot be
driven. The frequency drive will reset itself after approximately 30 seconds. The conveyor can be drive

after this reset time if the conditions that caused the fault have been removed.

78



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Frequency Drive for Optional Belt Speed

The frequency drive used to power the motorized head pulley for this option is the same as the drive used
for the traversing motor except that it has a 3 HP rating instead of the traversing’s 2 HP.

Control wiring for this drive is the Two-Wire Start/Stop Control wiring found on page 19 of the AC Tech
SCF Series Manual. Reversing is not used for the conveyor belt. Therefore, a jumper is used to select

Forward only.

The parameters are different for this drive from the traversing drive’s parameters. All parameters not listed
here remain at the factory’s default values.

Parameter List for Optional Speed Belt Drive

Parameter Value
04 03
10 05
17 02
19 1.0
20 0.5
26 75

With these parameters, the belt speed in feet per minute will be displayed on the frequency drive’s LED
display when the belt is running. Belt speed may be adjusted by the up and down buttons on the frequency
drive. For more information on the drive consult the AC Tech Manual supplied with you conveyor.

WARNING: Joltage in the main electrical panel can cause injury or death. Viewing the frequency
drive s display and adjusting the belt speed requires the main electrical panel door be open while
power is applied. This should only be done by trained and qualified personnel with approval to work
with live voltage. Follow all OSHA and other pertinent safety guidelines when servicing this con-
veyor.

79



FMH Conveyors Operator’s Manual

BestReach Rigid Belt Conveyor

Troubleshooting the Electrical System

WHEN NOTHING WILL RUN
Check:
Remote disconnect fuses and disconnect is turned on
Conveyor’s door disconnect is turned on
E-Stops mushroom heads are out
Master reset circuit is on (amber pilot light on main electrical panel should be on)
Primary and secondary fuses for control transformer
Supply power wiring

CONVEYOR BELT WILL NOT RUN
Check:

Master reset circuit is on (amber pilot light on main electrical panel should be on)

Bed On/Off contacts are making

Wiring from Bed On/Off contacts to PLC input

PLC output is making

Wiring between PLC output and bed contactor coil

Bed contactor’s overload has tripped

Bed contactor is making (check contacts and coil)

Motorized pulley thermal overload. The motorized pulley has a normally closed internal
thermal overload switch. This switch is wired as an input to the PLC. If the pulley over heats and
the switch opens, the belt will shut off. If the Bed On/Off button is pushed while the thermal
overload switch is open (or the wiring to the switch is broken or not connected) the belt will not
start and the beeper will sound an error code of three beeps 2 seconds each separated by .5
seconds.

Wiring between bed contactor and motorized pulley.

Motorized pulley motor

80



FMH Conveyors Operator’s Manual
BestReach Rigid Belt Conveyor

Troubleshooting the Electrical System (cont)

CONVEYOR WILL NOT DRIVE FORWARD, BUT WILL DRIVE IN REVERSE
Check:
Bumper is not returning fully forward
Bumper switch is not making while bumper is fully forward
Extend limit switch is not returning to neutral position (center position)
Extend limit contacts in limit switch are closed (operator rod is on something or contacts are
stuck)
Wiring between Forward contact (joystick or selector switch) and bumper switch
Wiring between bumper switch and PLC input

CONVEYOR WILL NOT DRIVE FORWARD OR REVERSE
Check:
Jumper on AC frequency drive’s terminals 1 and 2 (must be in place)
AC frequency drive’s common control wiring to Forward/Reverse contacts (joystick or
selector switch)
AC frequency drive has faulted out (overload faults, shown as PF, will reset themselves in
approximately 30 seconds after no input to forward or reverse controls)
Three phase power to AC frequency drive
Output from AC frequency drive
Traversing Motor
Wiring from AC frequency drive to motor
Parameters in AC frequency drive have changed from values shown in list

CONVEYOR WILL NOT STEER LEFT OR RIGHT (power steering models only)
Check:

Power to joystick steering contacts, fuse in main electrical panel

Power through joystick contacts when steering

Power to linear actuator

Linear actuator capacitor

81






